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FOREWORD

The Board publishes a book on Instructions to Examiners of
H.S.L.C. Examination for use by all concerned every year. This year also
the book on the Instruction to Examiners which had been used in evaluat-
ing the answer scripts of the H.S.L.C. Examination, 2018 is brought out
with the aim to ensure objective and reliable evaluation and do justice and
transparency in the examination.

1 hope those who are using this book, the students in particular are
beneficial and helpful in the examinations and in their academic careers.

Imphal, Akham Joykumar Singh
the 6th Dec, 2018 Secretary
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Total number of printed pages — 8 96 RM 17E (N)

2018
ENGLISH
Full Marks-80
Pass Marks - 20

Time: Three hours

The figures in the right hand margin indicate full marks for the questions.
Answer the questions in your own words as far as practicable.

SECTION-A

(READING)

1. Read the following passage and answer the questions that follow:

As material civilization advances and supply of avoidable goods and
services increases, man’s need correspondingly multiply. Advertising plays
a key role in this never-ending process by stimulating the public’s desire
for certain products, and thereby promoting the sales thereof, untill it has,
in effect, created new needs, real or supposed, where there were none
before. Afamilar example is the motor car - once arare and costly novelty,

now a very common and relatively inexpensive necessity.

Contd.
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A product,- service or commodity that the public needs and knows it
needs tends, of course, to 'sell itself '. We might therefore assume that, in ‘such
cases advertisingi would be of minor importance. To some extent this is true.
Meat-packers, vegetables and fruit growers and diary operators spend less on
advertising or instance, than manufacturers of cigarettes, liquors, cosmetics,
and other items of this type. On the other hand, the competition that exists between
rival brands means that the suppliers of such basic necessities as food, clothing,
and housing must advertise their wares to stay in the business. Significantly,
the industry that spends most on advertising turns out a product which almost
everyone considers a necessity; soap. |
(a) Complete the following statement :

(i) ‘Advertisement acts as a stimulus to 1

(i) Manufactures dealing in luxury must spend more time on

1

(b)  Answer the following questions in one phrase/sentence each :

(i) Why does human need to take upward tract ? 1
(i) Why are many items of luxuries changed to necessities ? 1
(iiiy Why is there a keen competition between the rival brands ? 1

96 RM17 E (N) 2 Contd.
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(c) Answer the following question in about 50 words:

Why is less advertisement needed for the sale of essential

commodities ? 3

(d) Find out the words from the passage that have the same meaning as :

1+1=2
(i) the quality of being new
(i) products, article for sales
COURSE BOOK
(PROSE)
2. Answer the following questions in one phrase/sentence each: 1x3=3

(@) Whatis the shape of Dzuko Valley?
(b) When did Government of India honour Mary Kom Padma Shri
Award ?
(c) Why do people love to be around Sunita Williams ?
3. Answer the following questions in about 30 words each: 2x3=6
(a) How was Sagol kangjei used in the past apart from being a popular

game?

96 RM 17 E (N) 3 Contd.
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(b) Why had Ramanujan rro‘e attachment to his mother than his father ?
(c) Why did Lakshmana Sastry summon the new teacher?
4. Answer the following quesiiors in about 50 words each: 3x2=6

(a) Why is the North-East India said tobe a hot-bed of rich flora and fauna
7

(b) Why is tourism in Manipur become more important in view of india’s Act
East Policy ?
Or
Why is Moreh worth visiting ?
SECTION-B
(WRITING)

5. Write an essay on any one of the following topics in about 200 words

(a) Fast Foods

[ Outlines : Introduction - a good answer to fast moving life - its

outcome - conclusion ]
(b) Duties of Students

[ Outlines : Introduction - duties towards themselves - duties towards

society - conclusion ]
(c) Alittle Learning is a Dangerous Thing
[ Outlines : _IntroductionA(its meaning) - why dangerous - why is it

better than no learning at all - conclusion]

96 RM 17 E (N) 4 . Contd.
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6. Sumitra of Kalinagar, Jiribam writes a letter to her brother, Sonny who is
staying in the hostel of Gurucharand College, Assam advising him to study
hard and avoid bad company. : 5

Or

Write a letter to the Health Minister, Govt. of Manipur highlighting the
problem that many patients die en-route before they can reach the hospitals.
Give your suggestions and sign yourself as Naoboy of Chanchipur.

7. You have taken part in the inter-school debating competition Conducted
by the Director of Education (s) on the topic ‘School going children should
be free from heavy school bag’ and won the 1st prize. Write a report of this
to be published in your School Magazine. You are Tomthin of Touthang
High School. 4

8. Make notes of the important points of the following passage and write a
summary using the notes: 3+3=6

The test of a great book is whether we want to read it only once or
more than once, Any great book we want to read the second time, and
every additional time that we read it, we find new meanings and new
beauties in it. A book that a person of education and good taste does not
care to read more than once. It is probably not worth much. But we cannot

-consider the judgement of a single individual always right. The opinion
that makes a book great must be the opinion of many. We may doubt the
judgement of the single critic at times. But there is no question of doubt in
regard to the judgement of generations. Even if we cannot at once perceive
anything good in a book which has been admired and praised for hundred
of years, we may be sure that by trying, by studying it carefully, we shall at
last be able to feel the reason of this admiration and praise.

96 RM 17 E (N) 5 Contd.
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10.

11.

12,

13

14.

You are James, the cultural secretary Zenith Public School, Sugnu. Write
a notice suitable for your school notice board giving details for participation

of students in a CuIturaI'Programme to be organised by your school. 3

SECTION-C
(GRAMMAR)

Rewrite the following sentences inserting appropriate determiners wherever

necessary: 1+1=2
(a) eggsare rotten
(b) menare mortal

Fill in the blank with correct modal verb of the following: 1

If | had the money, | buy those books.
Change the voice of the following sentences : 1+1=2

(a) Why did you sell your mobile phone ?

(b) All the books are being returned by Chaoton.

Chahge the narration of the following sentences: 1+1=2
(a) “I will meetyou again’, Radha laughed.

(b) He said, “Happy Birthday”.

Rewrite the following sentence using the correct form of the verb within

bracket :

He feels a hand (touch) his shoulder. e

96 RM 17 E (N) 6 Contd.
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15. Transform the following sentences as directed : 1+1=2
(a) With all his wealth, he is not satisfied.
(Change into complex sentence without changing the meaning)
(b) Mumbaiis one of the biggest cities in India.

(Change into superlative degree)

SECTION -D
(LITERATURE)
16.  Answer the following questions in about 30 words each: 2x2=4
(@) "Why do you dress me in borrowed robes ?”

Why did Macbeth say so when Ross saluted him as Thane of
Cawdor?

Or
‘I can’t find drinks for everyone who comes along”

Why does the peasant once very poor change his attitude towards a
poor peasant now ?

(b) Why does the Bishop feel the candlesticks very dear to him ?
17.  Answer any three of the following questions in about 30 words each :
2x3=6

(a) “Thou art more lovely and more temperate” Why did Shakespeare
say that his friend is more lovely and temperate than the summer ?

Or

96 RM 17 E (N) 7 Contd.
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‘She shall be mine, and | will make
A lady of my own'.

Why did the mother nature say so 7

(b) “lam the daughter of the elements with winter conceived”
Explain the idea.
Or
“Theirs but to do and die
Into the Valley of Death’
Explain the idea.

(c) Why does the frog want to kill the nightingale 7
Or

Why does not the poet know about sun-set in your Poem ‘A Day’' ?
18. Answer the following question in about 120words: 5

Why did Raicharan come to Anukul and admit that he had stolen the little

master ?

Or
Why did Mathilde repent aftér ten years of hard life that if she had not
borrowed that necklace ?

19. Answer the following question in about 120 words : 5
Why was the Convict's heart filled with dispair, hopelessness, bitterness
and anger?

Or
Why was the Convict eager to reach Paris and asked the Bishop to bless

him before leaving ?

.96 RM 17 E (N) 8 Contd.
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ENGLISH
Scoring key / Outline Answer and Marking Scheme

SL
No.

Text

Mark | Total
for | Marks

a)

i) public’s desire / public demand
ii) advertisement

b)

i) Because ot the advancement ot material goods.
ii) Because of constant advertisement
iii) To boost up the sales of their wares

Because essential commodities tends to sell itself- the public knows
their own needs- so less advertisement is needed.

i) Novelty
i) Wares; commodities; goods.

-

» COURSE BOOK (PROSE)

Fork shaped
In 2005
Beczuse she is always positive and happy

It was used in various subtle approach tor making friendship or for
exterminating a foe. It was also used as a means in diplomacy, politics
and palace intrigue

Because Ramanujan’s father was very busy at his work. So his mother
solely looked after him - taught him how to sing religious songs —to
go to temples and so on.

He summoned the new young teacher for his unfair behavior in the
classroom-to teil him not to spread the poison of social inequality and
communal intolerance in the minds of children.

G |
w = e e

1+1 2

b)

Because of the monsoon rain and sub-tropical climate the North East
India is made a region conductive to the growth of varied breed of
flora and fauna. Among these vast range of fauna two of them are
world renowned -Sangai of Manipur and Rhinocerous of Assam.
The implementation of the Trans-Asian Highways and the Railways
will make Manipur the Gateway to South-East Asia. If appropriate
infrastructure and services are suitably placed Manipur is destined to
be a popular tourist hot spot in South-East Asia and its neighbours.
OR

Moreh, an internatiocnal town is 110 kms. away from Imphal and 5 kms.
away from Tamu, the border town of Myanmi. It I . busy trade centre
and an important commercial hub. All kinds of Thai and Chinese consumer
goods are available at cheap price from the two international towns.

24 3

96 RM 17 E (N) 9
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ENGLISH
Scoring key / Outline Answer and Marking Scheme
SI. Text Mark | Total
No. for | Marks
each
point
| 5 | ESSAY WRITING : Expression 1 7
| 6 | LETTER WRITING : Format / expression 2+3 5
7  REPORT WRITING : Format / expression 2+2 4
8 | Note: 1. i) Good book—one that people like to read time and again.
ii) New meanings - new beauty. ,
2. 1) Single man’s opinion - doubtful 121 =3
ii) Judgement of generation - no doubt
3. Atonce we may not - but by trying again- could be understood.
Such a book should be able to reveal some new idea everytime we go
through it. It should have stood the test of time and gererations ' ' 142 3
have approved it. A single critic, however eminent cannot be fully .
upon as a safe guide.
9 | NOTICE WRITING : Format + Conent 1+2 3
SECTION - C (GRAMMAR)
10| a) These/those/All/Some/A few/The ! I
b) All men are mortal/Men are mortal 1 1
11| Could/would/might I I
12| a) Why was your mobile phone sold ? 1 1
b) Chaoton is returning all the books. 1 1
13| a) Radha said laughingly that she would meet me/her/him again. . 1 1
b) He wished me/him/her happy birthday./or He wished happy birthday. | 1 1
15| He feels a hand touching his shoulder. 1 1
15| a) Although he is wealthy, he is not satisied. 1 1
b) Mumbai is bigger than most of the cities. I I
SECTION - D (LITERATURE)
a) Macbeth was surprised when he was addressed as Thane of Caudor
16 by Ross because the Thane of Caudor was still alive. 2 2
OR
When he was poor the peasant was virtuous — now he is rich and
becomes evil like the devil.
b) Because they are the token of his mother’s love for him. She had
given them to him when she was on her death and asked himtokeep| 2 2
them in remembrance o her.
a) Because summer is rough and short. But the poet finds that his
Contd.
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ENGLISH
Scoring key / Outline Answer and Marking Scheme

SL
No.

Text

Mark | Total
for | Marks
each
point |

17

b)

friend is more mild and lovely in temper and his beauty is eternal
and will not fade away like the summer.

OR
As a mother, nature wishes to rear Lucy to grow and educate her
with the diferent objects in nature — let her play like a child in her
mother’s lap.
Here the poet personifies the flower as he daughter of the four elements
in which the nature moulds its existence as its seeds sown in winter
and grow in spring.

OR
The English soldiers were brave and well disciplined. Their duty
was to obey their Commander. So they charged forward even though
they knew that death was sure for them as they were not suitably
equipped.
The frog is the undisputed king of Bingle Bog. The nightingale comes
to this Bog and threatens the sovereignty of the frog. The frog wanted
to earn more money. Did not care about the nightingale.

OR
In the poem sunset symbolizes death. The poetess regards death as
the great unknown and mystery So she says the finality of death
leaves one helpless and not kown to her anything about it.

As raicharan was old and weak his employer was not pleased with his
service. He had no money left to afford the requirement of Phailna. He
was even starving for the child’s sake. Now he knew that he could not
look after Phailna properly. So, finally he decided to himself that he
would take Phailna to Anukul. Raicharan had a firm belief that Phailna
was the little master reborn in his house. He also thought that Anukul
and his wife would be very happy to get back their child and also he
would be near Phailna as a servent to Anukul. Thus he came to Anukul
and told him that it was not the Padma who stole the child but it was he
who did it.

OR

243 5

96 RM 17 E (N) "
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ENGLISH
Scoring key / Outline Answer and Marking Scheme
SL. Text Mark | Total
No. for | Marks
each
point

Mathilde sometimes thought o that gay evening of long ago, of that ball
where she had been so beautiful and so admired. The loss of the necklace
ended everything for her now. She suffered poverty for ten years. She
looked old and became the woman of impoverished households. Now
everything is gone — her beauty, her youth. The writer says that life is
mysterious. So we should try to be happy with what we have. We do not
know what may happen in the next moment.

Once the convict was caught for stealing to feed his hungry and ailing

19 | wife. For that he was sentenced to ten years in the prison. It was too 2+3 5
severe a punishment for the petty theft. I le was badly treated in prison.
He was chained like a wild animal and whipped like a dog - feed on filth,
his body was covered with vermin and slept on boards. This inhuman
treatment turned him into a beast - it made him lost all faith in goodness,
charity, humanity and became a number. By chance he escaped from the
prison but nobody was ready to provide him food and shelter- he was
wandering free to starve. All this left his heart filled with despair,
hopelessness, bitterness and anger.
OR

The convict was on the run. He had no paper and no name. So he thought
that he would be quite safe in Paris - for it was a big place - he could be
lost very easily there and no one would be able to arrest him in the
crowd of that big city.

The convict did not believe that there was any goodness in the
world. But the nobility and benevolence of the Bishop - his kind and
sympathetic treatment transformed him completely. Goodness again
prevailed upon him. So he asked the Bishop for his blessing that he
thought, would help him before leaving for Paris.

96 RM 17 E (N) 12 Contd.
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Total number of printed pages — 8 96 RM 18M (N)

2018
MATHEMATICS
Full Marks-80
Pass Marks - 20

Time: Three hours
Attempt All questions.

The figures in the right hard margin indicate full marks for the questions.
For Question Nos. 1 to 5, write the letter corresponding to the correct answer.
1. If sin (6+55°) = cos (76-5°), then the value of 6 is : 1

sin (6+55°) = cos (70-5°) wsessfl wnf value &f mewfofef i

sin (6+55°) = cos (76-5°) %33 65 value & T |

(A) 5°

(B) 10°

(C) 20°

(D) 25°
2. Area of a circle is 154cm?, its perimeter in cm is 1

Circle wmmf area 154cm? cf | mofnf cm & ©es perimeter mewfofef |

Circle @4l area 154cm? &1 IR cm w1 @71 perimeter TAM |

(A) 22

(B) 44

(C) 77
. (D) 88

3. The line segment joining the points (-2, -3) and (5, 6) is divided by the x-axis

in the ratio : 1
(-2, -3) TR (5, 6) A%8 sferofns onzfecefs &5 FHEI TF x-axis T HRnf
ratio TOfR BRI I

(-2, -3) TR (5, 6) ZEAT [WRRY =NIEfRET (513 T S x-axis 714 ratio SOw@
YL | '

(A) 3:2
(B) 2:3
(C) 2:1
(D) 1:2
Contd.
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4. x"+a" is divided by x + a only when nis : 1
n T menfof TRes "EAR X"+ a" § X + a C 8°HRC 7°C8 7% |
n 7 TAT €37 TSI X7 + @” I X + a 7 @] @Gl T2
(A) even
(B) odd
(C) prime
(D) composite

5. IfD, E, F are respectively the mid-points o the sides BC, CA, AB of a AABC,
then the ratio of the area of ADEF to the area of AABC is : 1
ADEF & AABC wf Rz mfsz BC, CA, AB 753 side ofmmf mrs sfegofm wsassf
ADEF @f area ¢ AABC wf area ® T*sC8 ratio £ memfofef :
ADEF I AABC & wasfear BC, CA, AB =/5aT side i3l sprr A1z w%zafn
ADEF & area 7t AABC ' area 511 €371 ratio § S¥ANGH :
(A) 1:2
(B) 1:3
(C) 1:4
(D) 1:5

6. Find the canonical decomposition of 3528. 1
3528 mf canonical decomposition LIS |
3528 I canonical decomposition 7S |

7. State division algorithm for polynomials. 1
Division algorithm for polynomials Wf K3 53 |
Division algorithm for polynomials 3 aca7=1 33 |

8. What is meant by a sequence ? 1
Vequence ARl HETS AT ?
SequenceTRST FHY L&A ?

10. Find the value of sin 60° cos 3(C° + cos 60° sin 30°. 1

sin 60° cos 30° + cos 60° sin 30° ®f value MI*IS |
sin 60° cos 30° + cos 60° _in 30° 5 value 7[AFS |

96 RM 18 M (N) | 2 Contd.
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10.

1.

12.

13.

14.

15.

Write the statement of Factor Theorem. 1
Factor Theorem mf Re3 533 1
Factor Theorem 7! acaeT 23|

Define a random experiment. 1
Random experiment Ps80f maf3c? 'wrH |

Random experiment Zraf1 SR o=pG |

If two events A and B are such that P(A)+P(B) = 1, write P(B) in terms of
P(A). 1

mafFFs A TROT B 758 event wzfof P(A)+P(B) = 1 wsasxf, P(B) Tof
P(A) & OFPIem 5z |

FRAT A PR B 2770 event TR0 P(A)+P(B) = 1 €51 P(B) @i P(A) W

*ICHIgESIT 2|
Write down the formula for the area of sector of a circle in terms of the
radius and the arc length. 1

Radius QW arc mf ¢owss ORmam circle TRIF sector THRI area T
formula 5% 1 ,
Radius =573 arc $1 PRI <IN circle W= sector S5 area 5 formula

B

Establish the formula S, =% [2a + (n—1)d] for the suni of tf = first n terms of
an AP. _ 2
AP T Tres n term wf sfemfer-Ee maPmres formula

8,=5 [2a + (n-1)d] Tof establish 5"

AP 5T S=2IET n term A RowTE -4 «[tarar formula

S, =7 [2a + (n~1)d] @ establish 311

When a polynomial p(x) is divided by 3x—1, the quotient and remainder are
x?-3x+2 and 5 respectively. Find p(x). 2
Polynomial p(x) 8 3x—1 T R°E8%. TIWE THOW TAFE L OME x2—3x+2
TrROE 5 Cf I p(x) MTTZ |

Polynomial p(x) 3 3x—1 T (T, SIYRAT SRR SCFT NLRMLAT x>—3x+2 TR 5
1 p(x) TS |

96 RM 18 M (N) 3 Contd.
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16.

17.

18.

19.

20.

Write down the roots of the quadratic equation ax?=bx +c=0.lfa+b +c¢
= 0, what are the roots of the equation ax?=bx +¢c =07 2
ax2 = bx + ¢ = 0 P58 quadratic equation TOfif root ofmg 53 | WeTTHS
a+b+c=0Ts8RA, ax? = bx + ¢ = 0 A58 equation T root efms mef-
mefe? |

ax? = bx + ¢ = 0 WA quadratic equation S root fiy T sRaTr
a+b +c =093 ax? = bx + ¢ = 0 T equation S root Py Fi-fCeT?
Show that any square number cannot be put in the form 4k + 2. 2
Square number BRI 4k + 2 T RO DR THE 3x° P8 @40 |

Square number 2fRsIF 4k + 2 5 TG AF AT 2/HAT Tee |

A solid metallic cone is 24cm high and radius of its base is 6cm. If it is
melted and recast into a solid sphere, find the radius of the sphere. 2
a¥mf cone TRl TRWS 24cm THRQW base B radius & 6em of § mof
o RmPIeE sphere ™ REWR 7 &85!, sphere Tamf radius NS |

4TS cone SIA SEIRAT 24cm W base A radius & 6om 1 7 CTTTRREAN
sphere & wagwl (25 sphere SA radius LT |

Prove that : 3
MERE & : a*+b3+c—3abce = (a+b+c)(a?+b>+c2—ab-bc—ca).

AN (81 : a+b3+c—3abe = (a+b+c)(aZ+b?+c?>—ab-bc—ca).

If o and B are the roots of the equation ax? + bx + b = 0, prove that

o, B, [Aa_
5o s
mafEAS o TROE B Tof ax? + bx + b = 0 A58 equation TofEf root e
wHasR! \/% +\/g + % = 0 W% P58 MERE 5 |
QT o TR B BB ax? + bx + b = 0 TFAT equation w3 root Py w3aamm,

Jg+g+ﬁ=0@3mm®'

96 RM 18 M (N) 4 Contd.
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21

22,

23.

24.

Solve graphically : 3
Graph ®f Fsme solve ¥ i
Graph F sl solve (911

2x =3y
X ¥ _
tg=1

Prove that the lengths of the tangents drawn from an external point to a circle
are equal. 3
Circle Trmf mmes & 3 sfesg RUsH? 2w tangent ofil KU RE’ A58 MERE
¥ |
Circle ST 11 Ca1a1 377 SwaN (FF=IT tangent Iz 71331 TTH 2IH4T 290 (S|

1

Prove that :(coseco — sin8) (secd — cos) = TR 3
2 H — 1
REFRE 5 : (cosech — sind) (sech — cos) fand + coid
_ _ 1
#1491 : (cosech — sind) (secd — cosh) = e

Given that p is he probability that a person aged x years will die in a year.
If Mr. A is one of four persons all aged x years, find the probability that
atleast one of the four persons will die in a year and Mr. A is the first person
to die. ,

RPT x Qa8 WiTs TR RAT TRmf memR ofnef 258w probability T& p ef Ase
mfzPmree | mefrAs Mr. A Tof RAT x 9ars miTs mefif RCOR TR Tsess!,
Ref TR RE IR RARYBR Fe's Refnf mousr sl offef oam Mr. A ¢ 5P
rec ofmes wire wsnef A58wf probability M |

512 x a1 The ot 512 Sl Tozwt faifer 2/l probability w7 p o 2@ Aeaics |
IFIF Mr. A O 57 x @71 The SRR segRwt St @3, 5 Srwdl sz qrsrwgwt
ST AN SRt ST Wit S Mr. A 71 321 2T Fieiar S @Zefa 2@
probability #{AFS |

96 RM 18 M (N) 5 : Contd.
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25.

26.

27.

Prove that |x+y| < |x| + |y| or every X, y € R and hence deduce that
Ix=y = [xI-yl. 4
X,y € R TS8R, [x+y| < [x| + |y| TF P58 MLFEC » TRm wmEsw! [x-y| > [x|-y|
SAICTE |
X,y € R GZ [x+y] < [x| + ly] 9% TN 29I (5 WA LA [x-y| = [X|-ly]
SIEESG |

Or/ewsgm/F@al
Prove that :
(i) Ifx,y,ze R,x0and xy =xzthany =z
(i) x.0=0foranyxeR.
MYRE &
(i) x VY zeR x0TRYWXy =XZ TR,y =z TR |
(i) X € R TRPII T’SBH, x.0=0T%I
AT G :
(i) xv.zeR, xOW‘ﬁ‘{xy=x2\‘3Wy=zeit
(i) x e R ==Czs ¢%ml, x.0 =0 €3
Fine the coordinates of the point which divides the line segment joining the
points (x,, y,) and (x,, ¥,) internally in the ratio m:n. 4
(X, Y,) TR (x,, y,) A58 Sfegofn onzfecs &'s FEIr TRE m:n A5S ratio &
ROTR E5Uals sfeg ugmf coordinate ofiy MR |
(X,0 ¥,) TR (X, Y,) T Rt XA (AR T S min ZEAT ratio TR
QRT3 A coordinate gy ZLART |
A rectangular garden is of the same area as another which is 6m longer
and 4m narrower. It is also of the same area as a third garden which is 8m
longer and 5m narrower. Find the cost of fencing the garden at the rate of Rs.
500/- per metre.
Rectangle T%8 5%* TR area TF FRUEC 6m DU 788 THRYN RETST
Am 7EL8 TR TRl area ™ med | ol RROKC 8m OU8 788 TRQD
RETYT 5m FELE TPRYS % %A THRIf area e mee | metre & Rs. 500/-f
RIR 5%°7 TR OFB B8R 00 TS OCERT JIWH |

96 RM 18 M (N) 6 Contd.
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28.

29.

Rectangle 33T 2031 SHAT area 17 TR 6m *RAT (ZAT TPR TG 4m
21 B A area 9N A | 67 TRFT 8m XA (AT SR TAGT 5m T2
ST RCATE SHA area P M | metre 7T Rs. 500/- 5 BRAT 37U W #7e
I B9l (TR LIS |

Construct a pair of tangents to a circle of radius 2.5cm from an external
point which is at a distance of 6cm from the centre of the circle. Write the

steps of construction.

Radius 2.5cm @3 circle TPl centre stwf 6 cm Swe mRewf 3fey TR
circle T®® tangent z&' TR RfIZ I Construction mf step ofmg 5z |

Radius 2.5cm @237 circle sS4l centre 7t 6 cm ST T={a1 7 Swall circle

w77 tangent &1 S 5% | Construction 3 step 17 231
Or/euzerm/agan

- Construct a triangle similar to a given triangle AABC with its sides equal to

% of the coresponding sides of the ABC. Write steps of construction.

Tm’d AABC & similar ©*%3, side ofngz AABC mf Rers side ofmmf % T%8

triangle T construct 5 I construction Tf step ofg 572 1
@A AABC 7 similar €%, side RRET AABC 5 SERT side Ried ; Sl

triangle ST construct (911 construction 7 step 17 21

From the top of a house of height h, the angle of elevation and depression
of the top and bottom of a tower are o and B respectively. Prove that the
height of the tower is h(1+tana cotp).

TROS h T%8 3R TR meeIenf 2°088 tower TRRf mseenf elevation wf
angle TR wemif depression wf angle ofm RL 0T o Trm B cfi Tower
Tsm RO h(1+tano cotp) Cf B8 MERE 5 |

SAIRAT h S3AT I SA ATl (IRA tower WAl SCSaN elevation M angle
SRR WCATSA depression A angle FRAT o IR B 1 Tower SwAT SERAT
h(1+tano. cotp) of A5 MeRE & |

96 RM 18 M (N) 7 Contd.
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30.

31.

32.

The median of the following distribution is 2.5. Find the value of x and y if
the total frequency is 100. - 5
mEg Wferfs distribution TofM? median 52.5 cf 1 TRes frequency 100 Trars®f
X TR y ®f value TOs I

T4 AT distribution S median 52.5 71 S#AT frequency 100 %517 x

SR y At value 7CAFT |

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 |90-100
Frequency| 2 5 X 12 17 20 y 9 7 4
State and prove Pythagoras Theorem. 6

Pythagoras Theorem Bf R™ 5% THQ MRS 3 |
Pythagoras Theorem & ACATE ¥ SR 2 ¢ |

Or/eH3erm/<@aN
State and prove AAA-Similarity Theorem.
AAA-Similarity Theorem W R6*3 57 THRQT KERES ¥ |
AAA-Similarity Theorem i QICaTeT 2 SRR 231 €37
From a cone of height 24cm, a smaller cone is cut of by a plant parallel to
the base. If the volumes of the cones are in the ratio 8:27, find the height of the
resulting frustum.
TROS 24cm T%8 cone THRRN TREM cone TF: base & parallel T3 plane
THC @S 1 Cone of TERf volume T ratio 8:27 Wserdwf, WATE frustum
TR TROS MLTHE |
SRIRAT 24cm G341 cone SHA ST cone I base T parallel ST plane
o T3 Cone R s volume f ratio 8:27 8%, (2T frustum Ul
SGIEAT LA | :

96 RM 18 M (N) 8 Contd.
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SCORING KEY / OUTLINE ANSWER AND MARKING SCHEME

HSLC EXAMIANTION - 2018

SUBJECT : MATHEMATICS

- 80 MARKS

Sl.
No.

ANSWERS

Mark
for
each
point

Total
Marks

(A)

1

(B)

(D)

(B)

b | e | | -

—] ] e | | -

(€)

DW=

3528

1764 o
882 3528 = 2x2x2x3x3x7x7

441 = 2%x3%x7?
147

48
7 -

[N]eo|ea]mona

Book resuit

Book definition

sin60° cos 30° + cos 60° sin 30°

:%+
—a

10

Book result

1

Book definition

12

P(A) + P(B) = 1
= P(B) = 1-P(PA)
= PA) [P(A)*PA) = 1]

96 RM 18 M (N) 9

Contd.
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13

Area of sector %rs

14

Bok Result

15

Here, dividend = P(x)

divisor = 3x-1

quotient = x*-3x+2

reminder =5

By division algorithm, we have
dividend = divisorxquotient+remainder
= P(x) = (3x-1)(x*=3x+2) + 5

= 3x°-10x*+9x+3

16

Roots of the quadratic equation ax’+bx+c = 0 are

b+ \b'-4ac -b-Vb*-4ac
2a 2a
if a + b + ¢ = 0, then roots of the equaion

and

(4
ax>+bx+c =0 are 1 and o

17

Now, 4k+2 = 2(2k+1), For this product to be a perfect square,
the number 2k+1 must have 2 as its prime factor, which is
impossible as the number 2k+1 is odd. :

Therefore, the number 4k+2 cannot be a perfect square.
Hence, any square number cannot be put in the form 4k+2.

18

Volume of the cone = tnrh

= (%nXG2XZ4)cm3
Let R be the radius of the sphere.
Then, volume of the sphere = %nR3
By question, %nR3= Inx62x24 =R =6
Hence, redius of the sphere is 6cm.

|
|
|
}
}
)
}
}

96 RM 18 M (N) 10

Contd.
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19| Book result 3 3

20| Since « and B are the roots of the equation ax? + bx + b = 0,

then a+ B = l}andocB-

S

;E\U1|m|cr
+

TIQ
m KI mlc‘

21| 1 mark for each graph. 1+1

The two graph intersect at the point (3.2). Hence, the
solution of the given pair of equationis x =3 andy = 2

1]

|
oT5
+
o |

]

o

22| Bock theorem 3 3

23| L.H.S. = (cosech - sind) (sech — cosh) _
1 1
= (gln—e— = sme) ((Tse —OOSG) | :

B 1—sin26) 1—cos2G) )
N ( sin® ( cos0
cos20sin20 . )
sinBcosHh
= sinfcosH 3
sinOcosh p
= m [ sin?0+cos?0 = 1]
1 )
- Sin’0+cos’®
sinBcos6 S
Tt i T
tanb+coto /

= RHS.

>l

96 RM 18 M (N) 1 Contd.
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24

Probability that a person aged x years will not die in a
year = 1-p

- Probability that none of the four person all aged x years
will die in a year = (1-p)* |

- Probability that atleast one of the four person will die in
a year = 1—(1-p)*

Also, Mr. A will die first out of the four persons =
{1-(1-p)}xg

1-(1-p)*
4

1
4

rlence, required probability

}
}

25

Book resuit

26

Book result

27

Let x m be the length and y m be the breadth of the

(x+6)(y—4) =xy => 3y-2x=12 ............. 4}
and (x+8)(y-5)=xy = 8y-5x=40 .............. (2)
Solving (1) and (2), we get,
x=24andy=20
Then, perimeter of the garden = 2(x+y)
' = 2(24+20) = 88m.
Hence, cost of fencing the garden = 500x88 = Rs. 44000.

rectangular garden. Then by question, we have }

28

Cosntruction
Step of construction

96 RM 18 M (N) 12

Contd.
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29

Let AB represent the house

CD the tower and BE_L CD
By question, AB = h,
Z/DBE = a
and ZEBC = <

From the ACBE, we have

BE
CE
= % = cotB [ CE =AB = h]
= BE=hcotf ..cccooiieiiereriiiiiiiiees (1)

= cotp

Again, from the ADBE, we have \

DE _
BE - tana >

DE
= hﬁﬁ =tana [ " of (i)]

= DE = h tana cotp

Hence the hight of the tower = CD
= CE+ED
= h+h tana cotp
= h(1+tana cotp)

96 RM 18 M (N) 13

Contd.
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For table
Madian class is 50-60

100_ (36+x)

By question, 50+ 2 - x10 =525

= 14—x=5
=x=9

Also, x+y+76 = 100
= 9+y+76 = 100
=>y=15

31

. tatement
I roof

32

Let r, and r, be the radii of the two cones (r,<r,)
Here, h, = height of the given cone

=24 cm.
Let h, be the height of the smaller cone.

MD — OM Byl B (1)

In the adjoining figure, AOMD ~ AOLB }

B oL n

Now

Volume ofthe cone OCD _ 8
' Volume of the cone OAB ~ 27

=
2
=
N
=
N
|oo

—_
54
e
1
—
w|N
el
—
o]
=
—~
—
=

height of the resulting frustum = h1-h2
= 24-16 = 8cm.

j

96 RM 18 M (N) 13

Contd.
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2018
Science
Full Marks-80
P a s - 20
Time: Three hours
Attempt all questions.

The figures in the right hand margin indicate full marks for the questions.
SECTION-A
Chemistry
(Marks — 26)

Answer Question Nos. 1 to 4 in a sentence, a word or a phrase or an equation.

1.  What valency will be shown by the element having sixteen protons in its
nucleus ? 1
RO Clamsirm MaPs*T ¢ & weffes TREC T°5°Cm! HR DImERmw ?
TN fNEFTST (A S (o1 BfeTears STl (SCateT 1 S/IwCA 7

o Define covalency. 1
e emf Assof mefe? O ue FUE |
PICSCART ZIFART FRET AT TG |

3.  Wirite the formula of the acid salt formed by the reaction of sodium hydroxide
and carbonic acid. 1
PRIRR ARREPTORR THROT BaSCir TOMRT AICT T (afTIrag) R4aam
O°RB TOR 034 TR ORI (ERT) 57 |
G FRTarEiE SR SIS b i Tie: (Rase) seamet cogr afim
T S WA (PET) 2

Contd.
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Double displacement reaction does not take place when aqueous solutions
o 1 ,andKClare mixed together. Give reason. 1
NaNO, Trom KC| @f sofis o-mm Frerfofl (oP3oE) mee RenfeesR
wefreE mrs ofees POCT T (887 OfOME 0RCH) 2fT Irog LU | Re'H
TFE |

NaNO, SRR KCI 1 53w (1 iR (T SJa Sl Sersrs T2t
RTINS (7 FOTCEPICas ROT) (A0S | S 21|

Answer Question Nos. 5 to 8 in about 30 words or as per directive.

Which of the two solutions of same concentration, hydrochloric acid and
acetic acid will have higher pH? Give reason. 2
AsRE e T TOMR TROT T Tofsed TRIRT (B0 THe o) RECE
yrerf wefnf Reus meFst pH ROBWe ? P I 1

SR @B SR WrToe ! SRINGBR (FACTCG) TR TRl S

Tzl Sl pH ARACA 7 T A
Draw a labelled diagram showing the aggregates of anions around a cation
in NaCl Crystal. 2

NaCl mgfosIx BRsRe TR TESSR TCHREOT THOMEST MU IR R4
RS- RE8 Rl T 303 |

NaCl Rrrsen Si5ioae Sl S SRy, Samaan T6sy Teor afR -T2
1GT TS S (TFE |

In a metallurgy process; HgO, MgO and ALO, are separately heated with
Zinc metal. Which one of the metals will be extracted ? Give reason. 2
meye omEereen (Feycasf) Tre HgO, Mgo Tmom AlO, ofmof sz
sOEr ZANT Fesm 5CC /o mofiel | fesaofm cofnf mgos mersof
OUSPIERF° ? HEH M i

(BT R, (BT = HgO, MgO iR AlO, T cemers corera fers
GRS (AT CPT FRITRY | GG SSTaN eyt ey WRgigeal 7 W AL
Explain how washing with water sterilized with Bleaching powder affect
coloured linen and cotton clothes. s
MRl MaERET FAIT-Fs PUIPIEE (X EERT M wers) sofm ofzfecge .
ORI-RALDT % B8 FR 05 SfT°g TR cofll Eff BaRC OPIrresT OBFPIT
P |

RS S B TR 2T ( COReTRge T CORAT) SRR PIaveT X[ BT
(ST S5 R R STagR AR T ST (RIRPReCs! IS O |

96 RM 19 Sc (N) 2 Contd.
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10.

1.

96 RM 19 Sc (N) 3

Answer Question Nos. 9 to 11 in about 50-60 words or as per directions.

Elements A, B and C form a Dobereiner's triad given as follows :

Calculate 'x'. Does the triad also exist in Newland'd Octaves ?

Element Atomic mass
A v
B 23
C X

3

soffeesofl A, B Thon C ¢ @sefcan! ¥o'5Tw T REr miafs ToRe

°Fmf :
Ele.nent Atomic mass
A 7
B 23
C X

X' Tof 7%Em T wa | S5TR TOf cfaceronf uﬁm*avnmfmmg Ra8E ?

TR A, B PR C (TR G2 st st S soqmr o

Element Atomic mass
A 7
B 23
C X

X' S RIeETs] AT | fizaw wifi frecemen ergeisr arear

What are redox reactions ? Give an example and identify the reducing
agent in the reaction. ’ 3
ERIe AICT TIofn (efemwosofn) Tof mefe? 2 &F TR MiE TROD
AUCT Cm TaR efgzfl Tzws TR RoT STl

(RO (RIRACMaRR (Sharmaie) wifsy aftar 2 g o A R g assg
iR Qrers o i oI |

What are aloys ? Give the composition of solder and Zinc amalgam. 3
TEsofl Tof mefe? : oPere TROE il TR TsRmrofms mig |

SRR ST FACAT 7 G g o qearaiwdh ety Ay

Contd.
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Answer Question Nos. 12 in about 100 words or as per directive.

12.  Write the structure and IUPAC name of.the structural isomers with
molecular formula CH,. Which one of the isomers can't be a homologue
of the unsaturated hydrocarbon series ? How can the isomers be
distinguished by a simple chemical test ? 5
meefmer Eamd C,H, 58 Q¥gIRE*E TROPRaoil TEH ERX OUem
(opgrRe) TROD [UPAC RRfIOM 57 | THerRaofl TRRT EXHST
TEOPRE¥R Asag @5 e mel (0afz)Ff PR TS8 Ra°SaF° ?
Tsormeofm Tof sRF RAs RRIE! (ERET 5°0%) TRE %%C38 HWEHT
=79 @23 17514
(RIRTETETR I C H, ‘9341 Bbraat SETARReR SIgal IS seaR (F63) TR
IUPAC SR %1 SnREuafiy Sl Sagal SREipeacon Zareiedie 21
(G CITaITaTsT &A1 ACAIRACS 7 SEEIARR ST ZHT 5 A6IF BRER
(et (B) SINAT (AT FIHT AT A16ITCal 2

SECTION-B
PHYSICS
(Marks — 26)
Answer Question Nos. 13 to 16 in a word or a sentence each.

13. Why is electricity considered as the most convenient form of energy ? 1
seersatofyf Assof exsan! g@IRs R nnf scazfcf xecefs mefFfce 2
SRS 2T LR YCAIBRT T6RAT Tl YA S 2

14. Magnetic lines of force of two bar magnets are shown as follows. Name
the poles of magnets facing each other. 1
2 IS FHRE! TCimt Feme sl S5E TE B0 Fes @4cf | s Teoferefs
R sfofmmt meeofn cenf mrEfl SoE |
5o f3qT QISEIR WA (WaAGR aAen €% @ wam efer | w1y eAfmiEar
CISSIRRIRET oA Sl TfR O |

J &_
47
15. Wha is role of brushes = an electric motor ? 1

se el Feste TR Soofonf Fl mefe? 2

fBrareE (NICH STwT FAMRAT T BT 2
96 RM 19 Sc (N) 4 Contd.
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16..

17,

18.

19.

20,

21.

Draw a ray diagram to show the position of the image formed when the
object is placed at infinity from a convex lens. 1
HEITIT® g TRI T8z TR SCEfC#fR TA8 myrs 0 Refs sz Temf
S ER B4 &° KENSH T 0% | |

FACSH (T SN GACET ST SRR O7T T T (<11 3T SIalt Care Tt
(T VIZEAT ST (FFE |

Answer Question Nos. 17 to 20 in about 30 words each.
Connected wires used in electric heater are thicker than used in electric
bulb. Why. 2
sewreefr rivse orse ofzfeces et sewmyefr 338y ofzfecafzsnf
13 re3af | mefwfe?

AN 2 |

Why does dispersion of light occur in aprism but not in a rectangular
glass slab ? 2
B3 MfZH TR R OfOmems Ier QU Irce Teo Thg Dryefs
mefmfe? 2

o157 FRIGTST STl G161 fAoTelameiey CRTEPoIT (RCSoTa ST ST (=T SIRACAT 2
Mention two disadvantages of burning of fossil fuels. 2
EX0fT BRI i RITRE BERCIRAE TR AR |

(RFITRIET SO O BIF#WT YCRIRBIWAT S 23R |

What is meant by solar constant ? Give its value. 2
03 menwrs PR30 mefe? 2 mofmf mofm mir |

(TR FTCHD FRA0T IRCAT 7 TP [ =AY |

Answer Question Nos. 21 to 23 in about 50 words each.

Two resistances are in the ratio 1:2. If these are connected in parallel,
their equivalent resistance becomes 8Q. Calculate the value of each
resistance. -3
eezfoseen gefmf aofte 1:2 cf | gef Tof wea e Ix oresal mEskf
sRfreaes efzfosen 8Q wsems | efzforee gxfmmf mofl A5y |
st S e 1:2 1 S wifSy ¢orracerem xrevafi TearEn RfRFCSTeTs CareEs
80 €373 | @B ™ TR e 8 |

96 RM 19 Sc (N) 5 Contd.
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22,

23.

24.

25.

26.

21

State three advantages of an electromagnet over a permanent magnet. 3
SIS FCTC% THRE MERC B4 % TR BFURS maF TPH PR |
SCECRICNCD ST ACHCAD (b Sl YCaIRBIT S S22y |
A concave mirror produces three times enlarged real image of an object
placed 10 cm in ront of it. Calculate the radius of the curvature of the
mirror. 3
mEEe Ffee TR RREIX TS TR 10 cm SN TR8R RN ST Ogm
TrH Raws | e TRl @emfRo TE BETRE 7248 |

TS T Sl TS @CEF T 10 cm STl TR RQE ST AT T
ST | e Sl @t oF FTEea (A |

Answer Question No. 24 in about 100 words.
Draw a schematic diagram of an A.C. generator with the help of this diagram
and explain the construction of it. 1+4=5
R =58 oxmofm @ A.C. zeeaye Tk 208 TROD gl FeWE S°RCT
TR 08T REN OZRTC BUF |
BT AT ¥R BT ALC m@ﬁﬁwm@m\wﬁwmmwmﬁr
TSR *[THIFT TIFC |

SECTION-C
BIOLOGY
(Marks — 28)
Answer Question Nos. 29 to 33 in one sentence.

Write the overall equation for photosynthesis. 1
Eyroferofom’ SER O RRIES 57 |
CRITBITZRR 2L ToRFII 2|
Define apical dominance. 1
womfmes semieeee mafe® SO |
P (ATt FRCT OIFe |
What is ozone shield ? 1
Tz ofIix mefe® PO |
S 7S SR O |

96 RM 19 Sc (N) 6 Contd.
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29.

30.

31.

32.

33.

34.

~(33)-

Why is CNG considered as a better fuel than diesel for automobiles ? 1
CserEsInfoz CNG ofzfecse zfza 13 ofzfeesanf E3 7°3ef weeefsnf
mer mefe? 2

STBIRIESRA CNG P& R et 21 Rigimavat w1 c2fer <afaasn wqg SR ?

Answer Question Nos. 29 to 33 in about 30 words.

‘Give two functions of adrenaline. 2
werefeeafen! mL’ Tof A5 | |

aftafemat T S TRy |
What are the advantages of separation of oxygenated and deoxygenated
blood in birds and mammals ? Give two points. 2

gremrofn ohrel RerRIofor Trofzfeeoesy orel sfeerofzicess soa
esRresofim ox mef mefe® 2 meses Tef Mz |

st Tl (TR SRIRTACEE S fraferafs a7 < Joneeatl
oy o3 SR 2 oIS = A

Draw a neat diagram of a neuron and label axon and dendrite. 2
y-»Ces cfag®enf OrsH TR °ISF TIoT TRl ReerewE’ 3 EROfm
:Jisza @4C |

% - ST VG %I ST ST AT ST (R iRB (o 2T B |
How does seed germinates ? 2
RET Ty EEAC FsPT KI8T ?

T+l TS FAH! ACSET (BIRITA 7

Give two points of differences between Social forestry and Agroforestry. 2
RofTT BaoefT T raEaoseft %ers e Tof |z |

CTGa CRITaTBel CaCRRICATgAT CAmar Coi%G i Ay

Answer Question Nos. 34 to 36 in about 50 words each.
"I the tails of a group of mice are surgically removed, the ofsprings of
those tailless mice have tails." Justify the statement.
‘merfr s @R EOem TR FEFE oafma wazefmf WAs T W H4STC) il R9RS
grfofm cgmf mrimfm TS R REC Ierars I REFf KA ?9558 MERE 5 |
“afaypa Bb Freae! At SraRRE TR ATl eSSl T AT B S
TBITRIR, S LN ST #4gh<r3 | AT pai1 2l 2 ¢ |

96 RM 19 Sc (N) 7§ Contd.
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35.

26.

37.

"Forest acts as a regular of hydrological cycle." Explain in three points. 3
G SofImf OSET RULTRE KL 3 Aef I 05 TARR RIFT OTTUe
SIa |

G SRS T2 TSR N (TR 1 (AT STZIWR AT =TI OIS |
List three environmental impacts of big-dams at the upstream level. 3
TROPETH TR TS SROMC SIS ERess W8 K&l TARR 57 |

AT CETCTSTAT SICBIAT RINIRA] ZASIRAAC oS! ATl C5C2R, SIZw 4 2|

Answer Question No. 37 in about 100 words.

Give five points of differences between asexual and sexual reproduction.
5

TOMRRA @fRERITOEE O TR FfIMERTOCE 2 CC8 MPHGH Fedl I |
SR RN (FTRRCHe el (A (AR el AR |

96 RM 19 Sc (N) 8 Contd.
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SCIENCE (CHEMISTRY)
SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME
SL Text Mark | Total
No. for | Marks
each
point
1| 2(2;8, 6) electronic configuration 1 1
2 | The number of electrons contributed or sharing by an atomina| 1 1
covalent molecule is called covalency of the atom.
3 | NaHCO, 1 1
4 | No insoluble or sparingly soluble salt is formed by the reaction. 1 1
5 | Acetic acid solution will have higher pH. Acetic acid isa weak acid | 1+1 2
and dissociates less to release lower 11" concentration.
6 | Diagram and Labelling 1+1 2
7 Mercury will be extracted. Since Zinc is more reaction than mercury | 1+1 2
displacement takes place. There is no reaction with oxides of more reactive
magnesium and aluminium.
8 | Bleaching powder has bleaching action on linen and cotton clothes. When | 2 2
washed with water sterilized with bleaching powdder, the colour shades
of the clothes get decreased.
9 | For the triad, 2 2
Ftoriic Mass of B _Atomic mass of A ; Atomic mass of C
or 23x2=7+x
x=23x2-7
=46 -7
=39
Yes, the triad is a part of Newland's octane (upto Atomic mass 40).
10| Definition, Example & identification. 1+1+1f 3
11| Definition, respective compositions. 1+1+1| 3
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SCIENCE (CHEMISTRY)
SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME
(i) CH,-CH=CH, (i) CH, 7
A g
CH—CH, 2+1+2) -5
Propene Cyclopropane

Cyclopropane can't be a homologue of the alkene series as it is

saturated.
The two isomers can be distinguished by carrying out an addition

readion, like addition of bromine.
Reaction used like CH3—CH=CH2+BI2 — CH3—(|3H—CI3H2

Br Br
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SCIENCE (PHYSICS)

SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME

SI.
No.

Text

Mark
for
each
point

Total
Marks

13

Because it can be easily converted into light, heat and mechanical
energies for using in homes, schools, hospitals, etc.

1

14

North poles.

15

The brushes are connected to the split rings for supply electric
current to the coil.

16

17

Current consumed by an electric heater is much more than electric
bulb. As the heat produced in any conductor is I?Rt, therefore heat
produced in the wire of electric heater is much more than electric bulb.
Hence in order to lower the value of heat produced in the connected
wire of the electric heater is resistance is lowered by making the wire
thicker.

18

In a glass slab, the opposite refracting surfaces are parallel to each
other. In this case, the composite light is splittedi into its constituent
colours when refraction occurs through the first surface. When the
rays are refracted through the second surface the rays emerge without
any diviation from the indient ray.

19

Any two disadvantages.

20

Definition.
1.39 kJ/m?/s

21

R, _

R = R, =2R,

IfR andRzare connected in parallel, then
RX2R, _ 2R} _ 2R,

R= g, Or 8= iR, = W, 3

" R, = ; x8 =120

R2 2x12 =240

N|-—

— | o— - N




—(38)-

SCIENCE (PHYSICS)
SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME

22| (i) It can easily change the strength of magnetic field. 1
(ii) Direction of magnetic field can be reversed. 1
(iii) I can be turned on and off. 1
23| u = 10cm. m = -3 (for real image) 1
e v — . —
m == 6t -3 ——d’m Sv=-30cm.
: § I R T s S (s By 1
By the relation, =% =t 0= ¢~ e S :
S~ R=-3x2=-15cm.
24| Diagram of A.C. generator
Construction 4
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SCIENCE (BIOLOGY)

SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME

SL

No.

Text

Mark
for
each
point

Total
Marks

25

6CO, + 12H,0 === CH,0, + 6H,0 + 60,

Carbondioxide =~ Water Carbohydrate Water Oxygen

1

26

When the apical bud at the apex of the shoot suppresses the development
of lateral buds into branches, the phenomenon is called apical dominance.

27

The thin layer of ozone around the atmosphere that prevents entry of
harmful UV rays in earth’s atmosphere is called ozone shield.

28

CNG is considered a better fuel because it burns more efficiently, cheaper
and its use has greatly reduced vehicular pollution.

29

1. Ttincreases heart activity. _

2. Itimproves the power and prolongs the action of muscles and also
increases the rate and depth of breathing to prepare the body for
flight or any other related activities.

1+1

30

i) Itis helpul in preventing the mixing of oxygenated and deoxygenated
blood.

i) Itgives asufficient supply of oxygenated blood in birds and mammals
that have high energy needs as they constantly use energy to maintain
their body temperature.

1+1

31

Draw the diagram of a neuron and label it.

32

‘Seed growth or germination commences by water entering the seed through

the micropyle and the testa absorb water.
The testa splits and radicle emerges.

33

Social forestry Agro forestry
1. It is plantation of trees in | 1. It is plantation of trees over
common village lands. agricultural lands.
2. This provides firewood, | 2. This combines the plantation of
fodder etc. thereby reducing trees and other woody perenial

pressure on existing forests. plants in association with
agricultural crops.

1+1
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SCIENCE (BIOLOGY)

SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME

SL

Text

Mark
for

each

point

Total 1
Marks

34

(i) Thisis because changes in the non-reproductive tissues cannot
be passed on to the DNA of the germ cells.

(i) So theremoval of the tails cannot changes the genes of the germ
cells of the mice.

( i) This reveals that simple or mild morphological characteristic changes
only affects the body form and do not affect the germ cells.

1+1+1

35

(i) The forest floor absorbs most of the rainwater by slov
down the surface run off.

(ii) Such water comes out as springs.

(iii) About 50 - 80% of the water vapour in the air above tropical
forests comes from transpiration by plants and helps in bringing
rains.

1+1+1

36

Any three of the following :
(i) The inhabitants of the nearby area are to be displaced as the
water level raises due to construction of the dam.

(i) There is loss of forests, plants and animals.

(iii) There are changes in fisheries and the breeding grounds of
fishes.

(iv) Siltation and sedimentation of reservoirs occurs.

(v) Lost of non-forest land occurs.

(vi) Stagnation and water logging near the reservoir.

(vii) Increase in vector-borne diseases due to breeding of vectors.
(viii) Microclimatic change.

1+1+1
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SCIENCE (BIOLOGY)
SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME
Sl. ' Text Mark | Total
No. for | Marks
each
point
37 Asexual reproduction Sexual reproduction
. Asexual reproduction doesnot | 1. Sexual reproduction involves
involve formation or fusion of formation and fusion of 14141 3

gametes.

. The offsprings formed by

asexual reproduction
genetically identical to the

parent and are referred to as

are

clones.

. It is simple and rapid process.
. Itinvolves only mitosis.

. Itis always uniparental.
. It is common among single

celled organisms such as
plants, animals etc. having
relatively simple organisation.

gametes.

The offsprings are not identical
to their parents or amongst
themselves.

It is an elaborate, complex and
slow process.

It involves both mitosis and
meiosis
It is usually biparental.
It is common in higher animals
and in higher plants specially
with  higher
organisation.

grade of
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Total number of printed pages — 8 96 RM 20 S/Sc (N)

2018
SOCIAL SCIENCE
Full Marks-80
Pass Marks - 20

Time: Three hours
The figures in the right hand margin indicate full marks for the questions.

SECTION-A

(GEOGRAPHY)
Marks - 27

Answer Question Nos. 1 and 2 in a sentence each.
1 How are man-made disasters caused ? 1
EX%O°RI RFEOML WERT TPIRE° ?
YO HEIBT SR (AT 2
2. Give one reason, why natural gas is considered to be a clean and

environment friendly resource ? 1
C°Ra*3 TR0 TOf TESSW EfTAst Rofers Thref -CIrTs o3 Thel Ase

mefif ZTefse® mer TR M |
meﬁwﬁwmwﬁq—wmmﬁmﬁﬁ%
CTAITRRCAT T o) Ay |

Answer Question Nos. 3 to 5 in about 30 words each.

3. Mention the advantages of pipeline transport by giving two points. 2
MSKCKC RI-KOfE FREWF ERUREOMR. ReF TCCiR KRC Sews |

AP LA~ (TR ARBTRMRY, T SR g 7S |

Contd.
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4.  What steps would you take up to solve the problems of jute industry ? 2
afFE serove i Tes REFOIN EPIAECE CAT BER-HERS PIL & HERT° 2
ST TS S AR (PR TR SN - (AGAR CENARFHCST 7

5. 'Manipur imports large quantity of fish from other states of India.' Suggest
two measures that would help reduce the import of fish. 2 -
St T opofnrnt Fmefwer 4 frc Sl 1 4 gofes rerress
eyl CSTRS T &' CCF ASEA |
e SIS (B BRI ST BT A (et I BT eI 2] SR G2l
(TR AT, QTTPG |

6. Draw a full page outline map of India, mark and label therein the

following : 1+1=2
SR TEC TevmEf Feow TR R°I'E TET RRs Fes miafsofef S ER 4T Ml
TEES :

ST A SIS mﬁwm@a@ww%ﬁﬁ%ﬂm@aﬂﬁzmﬁg

Sundarbans
QBRABE
SR
Answer Question Nos. 7 to 10 in about 50 words each.
7. Write a brief account of the three different land resources of India. 3
Seowm! sPde-RA4es EEA S TAREHE REFR ORCNC ST |
SO O~ (TSI T T SN ST A 2T |
8.  Explain the importance of minerals in the economic development of a
country by giving three points. :
SR TR OTRHMEE REEHPESS B I TR rofinf R Tsss REF TPAS
MIFT OTCFMT BIH |
o ST (RN TAATR BIGURTRAT (AR AT TP 2T R T A
TR OIS |
9.  How do big dams raise a number of controversies in the country ? Explain
by giving three points. 4
FEm Tofr TS RRONIC BERC RAHCS ERET LIAISBC: ? ReH TPRT
MIRT OEFIT FIH |
i< 3T SO FISRIRA R BCHEAAT TP (AT 2 TR LR AT
*THIZ SIS | -

96 RM 20 S/Sc (N) 2 Contd.
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10.

1.

12.

Explain any three geographical factors that have led to the localisation of

paper industry in West Bengal. . 3

R4 FWPIR KW segose! M-0er & pIcwals me Onf kel ComR

OBFTT FE |

(TB (IS (BAN TG SMTTAT CATREAT MO S g, *T7IgeT O |

Compare the geographical conditions necessary for the cultivation o cotton

with those of jute.

cofn 3T reBe TS8 mr OB EMTROfT SfPerf me onf EfRofogm

ROKAC | I

TR AREN R B TCE 1M R Ry R T Epna Ry SRAc |
Or/aR@sl/CxsEer™

Explain the chief chracteristics of plantation farming with special reference

to tea cultivation in India.

MSTFOT SAM Ty G55 OTTM-OROM TRECT ey RFC 8T Roms

OTRMT F3 |

2T (TGN TP ST X9 - XTI STARAT SIGT BIS(eTT RN TSRAT ATl O |

SECTION-B
(HISTORY)
Marks - 27

Answer Question Nos. 12 to 15 in about 50 words each.
Why did the Revolt of 1848 in Germany end in failure. 3
zomefr gefoy mROM seeenl 897 mafFfRmIr Bs MIE/RsC? @
Sriel 98 FAMR S8 vl wenc) SRS W #eRvEc 2
After 1815 liberal nationals went underground. Analyse this statement.3
=g T @ROM seeen! RYUR RWICS & »8 mEws gcuesmine miaws
wsEf | REF Tof ¢ I
LM FAMIR Su> @M THRA ERATAT et Tenifieq et Meare @3 | qrey
ST (AT |

96 RM 20 S/Sc (N) 3 Contd.
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14. After the first World War the economy of Germany almost collapsed.
Analyse this statement. : 3
mefLisint TATE deea mymx zakeimf oI-ZAwf EFTH 2R 0T g% Sl
RERF THOf C T I
SR TR SAIGHS TG SeTaN (oot~ A RS 2 CSHT LT I | JRF o
G

15 How did the Second World War bring beneficial changes to the Manipuries.

3
mefLisin Tefos de2ar RefNeR HeRs Hess RewEEr: !
R ST e e[ T P AFIAC! ?

16. On the outline map of India draw as answer to Question No. 6 (of

Geography portion), locate the places with name : Where 1+1=2

(a) Establishment of cotton mill in 1854.

(b) Establishment o Empress cotton Mill in 1887 by Jamshed;ji Tata.
R7 ¢ eml (ZICTLEM! ogpmmEf) MEEH TSC F°IEE Fen T, Fenfofm
wonf REROIR FRIT EECT 4T :

m) mefoun mrofn syeer Sfmmm:els cofm Efgy OBTF Wi

®) merfoyn @R seeR & THORET ‘Se efiekEls THTE W EFE

i
a1 72 ¥ F (of Geography portion) #TTYT ST Gl SITOP! (7 SHI, TR
w3 TR T RIRY Ao (TR BT :

F) 98 FURR Srued IR stfR1 Rrcaret = e |
¥) @%Wﬁbbmﬂ@ﬂtﬂ?ﬁﬁ%@ﬁ%ﬁﬁ%ﬂﬂmﬂ@ﬁﬁm

Answer Question Nos. 17 - 19 in about 30 words each.
17. State the conditions of industrial labourers of England ater 1833.
wefopnf mRofn svean! RYOR THeTR S serofmf ofgrfofmm?
EfTH A%R |

4B AR S 007N TGRAT GZRF1 3Tl TwBA TR Frow 2R

96 RM 20 S/Sc (N) 4 Contd.
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18.

19.

20.

21.

22.

After the enforcement of the American Constitution in 1787, the American

Newspaper became extremely partisan. Explain this statement. 2

eefornf mrofl sxerg CrafEnf meosfszor R4C8 7 o8 Ry mRsf

CHeafErf ME-eofll EfRR TR Cseen EfRF CRg @ 788 SRofes 7% |

REW TOf 0Beme 57 |

LB AR S b AR SATHRRIEN FHBEP AT (a1 T@LA T SN 21E-75ieg

fepray T STt Ry St 3T C2AT SR (R 1 e wif sl 2 )

What did the British colonial dministration order to the press in August

1942 ? 2

werfor mRofm epeamf U'mmy I Bafefon S°%ER & AT MEON HOHS 2L

mfersme ?

LB MR 585 ST At BT (o1 TSI (Tl P! AR ATl ?
Answer Question Nos. 20 and 21 in a sentence each.

State the objective nf General Dyer firing against the crowd at Jallianwala

Bagh, Amritsar on 13th April, 1919. 1

eefoym! mrofm secenf Tmefan! ¥u sex Trehoen! 2iefReld sny

»fIofE MIRAR O/ BRoferess zead RRa il MaRs TRES & BHe? 1

4B FAMR 3o 5> @l O S ont SHGH e a1 = fefamar Sammr

CRTIRCH IATRAZARY, (ST WINAaT SN AT (TN ?

How did the demand of cotton yarn increase alarmingly after the invention

of Flying Shuttie ? 1

“ECRI 03T (MICKH) MITemwisnt mere sofinf & @ TR 7°eC sade

3wrsf 2

“FRIBR FTEET (ST ) AT Sl ATRIEN 513 T S (ZHT TSI ST ?

Answer Question No. 22 in about 120 words each.

how did the First World War create a new economic and political situation

in India ? 5

mefofsfnf ©ATs dezar mane deywl 0°I-LF TRyl fzei»inf T°%8 '8

efTROfT TsAIcmsS 2

I ST GRS AT SHGR! (K- ST Ae1os AT Frewfig

SITAFT?

96 RM 20 S/Sc (N) 5 Contd.
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23.

24.

25.

26.

Or/cusgm/aR@sl
"Ater 6th April, 1930 the Salt Satyagraha spread all over India." Explain
the statement. 5
werfowr! mrofm seaonf TmefInf Sn eml Fypms AN O PREL? T
RER Oferne oesemElanmE | RER Tof 0eg I 57 |
B FAMR S>wolll @fiEFl SR LI TERAT YA FOIE SIS TFT AL =T
TR | APS ST *ICHIST 37 |

SECTION-C
(CIVICS)
MARKS - 13
Answer Question Nos. 23 to 25 in a sentence each.

Why did the British play the policy of 'divide and rule' over the Hindus and
Muslims ? 1
pleg whom Rosfrofin! mers sefsfoofic BefPfaRr TsRPrs TR
gars A58 Wafof KecaRalse? 2
3y s ferRa SEE R FRAES ARHTT TR (TS Al
CoNTEITST IR s 2

Identify one factor that may lead to communalism. 1
WRECSfeAR SRefis R8 HerH TR RO PR |

FCAATOTETaHI FTETSAl JIAT T S AT GG |

Assess the reason responsible for higher accountability and legltimacy of
democracy. 1

SIRPHE O PEC /5 & 8 TROT THET R8 TKEH RER T T |
FECTICH T (2T Mg CoTaT ST Sl JA1 %5 S C1e |

Answer Questio No. 26 in about 30 words.
Analyse in two points whether the influence of pressure groups and social
movements on politics is healty or not. | 1+1=2
MEreoer TR THROM PofTd RIRexofic gzefsls mfE 53 Tof TEs
CHIRT B%¥E U8 PR8Y meH Tof gl
(oI 2BTRIR ST (T TECAGRHIRAT Areifelfeont AT Bfdet S SRpaT L@l Fad
@331 Y TN SleTwT (e |

96 RM 20 S/Sc (N) 6 Contd.
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27.

28.

29.

30.

31.

Answer Question No. 27 in about 50 words.

Show the way in which a challenge in democracy carry with it an opportunity
for progress. 3
gfrme-ofg ofics (R°e°ge) TR BERS SABR FEr RER4CENf ERIRS
TH T*%3T° PS8R B43 |
frrerafmt Sicaar ((5eTe) ST FaRT SR (Za SISULIA YCHIRBIAl Sl $ AT
QA e |

Answer Question Nos. 28 in about 100 words.
Explain clearly 'horizontal power sharing' and 'Vertical power sharing' in a
democratic government. 2+3=5
sfeme-ofnf ordEe TR RE 7 OIrs! °eC8 THRON FIIK Ot 7°CCs
PArsofl mefc® ogsre S i
T AN et St S =i (@ Sy el *If% e 2rEafh Sfkicar 2
I OIS |

SECTIO-D
(ECONOMICS)
Marks — 13

Answer Questin Nos. 29 to 31 in a sentence each.
Identify the country where paper money was first used. 1
R 03 5PE Pee wfzfersls & 8T Ty mOm S|
(BN (¥ B2 2T PRIGTHTRAT (a1 o I OIS |
Why do the public accept paper money as a means of payment ? 1
merfif RIRAT Remf 0°38f ML w-miofe 8 Reafse? : ken TR A% |
SR T (G T A - AR (TR I 2 T ST 27 |
Which sector contributed the most in the GDP of India in the beginning?1
P ETIR SERIRR MEHS O TSaT ERSRN O°TL T 3 B 2

(2Rl BT FIFN (G YT (FITFIF (A0S 2

96 RM 20 S/Sc (N) 7 Contd.
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Answer Question Nos. 32 in about 30 wods.

32.  Why are we so concerned for dominance of agriculture is occupational
distribution in India ? Give two points. 2
SERIRR OfEEROMIN REOR & &-0fiEst FRD TS80fR TRSC TOW RC
murcin surcets mafnfe? » mer Tof miz |
S RS TR (NS-RRETRT T3 SFAPM GUARET W I AR
ATSOHIT FIRANCAT 2 T Sl A

Answer Question No. 33 in about 50 words.

33 What are the activities of the World Bank towards economic development
of its member coutnries ? Give three points. 3
ReIR BWIT FOMM! FeRsE T%8 & sToflmf oTrieer REARCE 8
TBTofnx mefe? 2 TPRT A%F |
qr @ SR (TR SRAT (AR (PTISCE SIXRAAT (Il AT
FRAC 7 S T

Answer Question No. 34 in about 100 words.

34, Explain the indicators of development in an economy giving five points. 5
&BT TR 0TRb REN % AES FRE'F Full OCRIT SIE |
A A (T BIGULT Gl WA Tl * TP UG |

96 RM 20 S/Sc (N) 6 e
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H.S.L.C. EXAMINATION KEY/OUTLINE ANSWER AND

MRKING SCHEME
SOCIAL SCIENCE (GEOGRAPHY)

SI. Text Mark | Total
No. for | Marks
each
point
I | Man-made disasters are caused by human error and negligence. 1 1
2 | Because the emission of carbon dioxide into the atmosphere is quite low | 1 1
while using it.
3| a) Even solids like iron ore can be transported by pipelines after
converting them into slurry. 159 2
b) Itis an inexpensive mode of transport.
¢) Itrules out transshipment losses or delays.  (any two)
4 | a) itshould be made mandatory for various mills to use jute productsin | 1
packing. 9
b) National Jute policy should be followed strictly by improving quality | |
and making a variety of products.
5 | Import of fish can be reduced : :
a) by harnessing the vast fisheries of the state using advanced techniques | 1 P
of fish culture
b) by mass-production of indigenous fishes like Pengba, Khabak, Ngaton | 1
etc.
6 | a) Full page outline map of India. 1 1
b) Marking and labelling of Sundarbans.
Mountains, plateaus and plains are the three different land resources of
7 | India.
(a) Mountains constitute about 30 percent of the land of the country and 1
ensure peremial flow of some rivers and provide facility for tourism.
(b) Plateaus account for 27 percent of the country’s total area and possess | 1 3
rich minerals, fossil fuels and forests.
(c) The remaining 43 percent is of plain which provides facilities for 1
agriculture and industry.
8 | a) Almosteverything we use from a tiny pin to a towering buildingare | |
made from minerals.
b) Allthe vehicles with which we travel, the implements and machinery | | 3

that we use with are made from minerals.
¢) We use minerals even for making our food, medicines etc. Thus,
minerals provide the base for industrial development of a country.
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H.S.L.C. EXAMINATION KEY/OUTLINE ANSWER AND

MRKING SCHEME
SOCIAL SCIENCE (GEOGRAPHY)

Sl Text Mark | Total
No. for | Marks
each
point
9.| a) Damming of rivers affect the natural flow of rivers resulting in
sedimentation and rockier stream beds.
b) It makes the aquatic fauna difficult to migrate for spawning.
¢) Large number of people have been displaced as the agricultural fields are 1x3 3
submerged by the impounded water of the dam.
d) Large dams have been the cause of new social movements like Tehri
Dam Andolan, the Narmada Bachao Andolan etc. (Any three)
10| a) Bamboo from Assam and Sundarban delta.
b) Grass from Bihar.
c) Coal from jharia and Raniganj. 1x3 3
d) Clean water from Hugli river.
e) Large market and cheap transport. (any three)
11| a) <Cotton requires high temperature during flowering stage whereas jute
requires uniformly high temperature throughout the year.
b) Cotton requires light rainfall and clear sky during the flowering stage
whereas jute requires uniformly high rainfall throughout the year.
¢) Cotton requires 210 frost free days and cooler weather at harvest time
whereas jute requires warm and humid weather throughout the year.
d) Cotton grows best in the black cotton soil whereas jute grows well on
well drained fertile soils with annual flooding.
¢) Cotton is mainly confined to the Deccan plateau whereas jute grows
mainly in ! the flood plains of West Bengal, Bihar, Assam and Orissa.
OR 1x5 5
a) Plantation farming is characterized by a single crop on a large area,
huge capital investment, scientific techniques of cultivation and cheap
labour.
b) It aims at high yield, high quality production and large output, most of
which is exported. .
¢) The final products have to be standardized to meet the world demand
and specification.
d) In India, tea is mainly cultivated in Assam, West Bengal, Nilgiri and
Cardamon hills, Himachal Pradesh, Uttarakhand etc.
€) Assam is the largest producer of tea and contributes more than half of the
total production of tea in the country
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H.S.L.C. EXAMINATION KEY/OUTLINE ANSWER AND

MRKING SCHEME
SOCIAL SCIENCE (HISTORY)

SL
No.

Text

Mark
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point
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12

Any three or relevant points

a)
b)

)

d)
e)

Prussia King William 1V refused the crown of Germany

Prussia King William IV joined other European monarchs
Aristocracy and the military opposed to the demands of the workers
and artists

The Parliament lost the support of the working class

The army was called and the Parliament was disbanded.

1+1+1

13

Any three or relevant points

a)

b)
©)
d)
€)
f)
g)

After the Battle of Waterloo, 1815 the victorious European powers
aimed at the de: truction of what French Revolution and Napoleon
stood for

New states based on absolutist political system were created

New conservative regime was againsl freedom and equality
Liberalism was suppressed

The absolutist rule introduced strong censorship laws

The liberal-nationalists was concerned about the frecedorrf’of the press
Liberal nationalists feared of the repression

1+1+1

14

a)

b)
<)

She had to pay fifty million pounds to the Allies as preliminary
reparation amount by May, 1921

She had to manage for doing so by taking loan from the USA

The German economy was almost collapsed in managing to pay
the reparation amount

1+1+1

15

Any three points

a)
b)

<)

d)
€)
f)

g)
h)

Manipur was exposed to the outside world

Soldiers from foreign lands and other parts of India came to Manipur
Manipuri became familiar with modern military weapons and
technology

Development of a network of roads and communication

Growth of trade and commerce

Vision of the people was greatly widened

Students studying outside Manipur greatly increased

In the hills the number of Christian missionary schools greatly
increased

1+1+1
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H.S.L.C. EXAMINATION KEY/OUTLINE ANSWER AND

MRKING SCHEME
SOCIAL SCIENCE (HISTORY)

Sl. Text Mark | Total
No. for | Marks
each
point
16 a) Bombay (Numbai) 141 2
b) Nagpur
17| Any two or relevant point :
a) Forbidden to hire children less than 9 years
b) Less than 18 years of age was restricted to 9 hours a day
¢) Women and children were excluded from mine labour
d) Better hours and safety devices were required 1+1 2
e) Govt. Inspectors provided to ensure that the regulations were/followed
f) Wage-carners were given the right to vote in 1867
18| 1 point from each section
Beore 1787 After 1787
American newspapers was not American newspaper followed the
afraid to engage in intelligent principles & ideas of either John Adam's | 141 2
and forceful debate on public  Federalists or the Jeffersonian Republicans
issues. American Government was using the print
media as a propaganda tool.
19| Any two or relevant points 1 1
a) registration of correspondents
b) limitation on the messages regarding civil disturbances
¢) prohibition of news regarding acts of sabotage
d) limitation on the headlines and space given to news on disturbances
€) compulsory press advice
f) arbitrary censorship
20| - to create a feeling of terror and awe in the minds of the Satyagrahis. | 1
21| -  Flying Shuttle sped up weaving 1 1
22| Any five or relevant points
a) There was ahuge increase in the defence expenditure
b) War loans and increasing taxes
¢) Custom duties were raised 14141 5
d) The income tax was introduced 141
e) Prices was increased
f) Extreme hardship common people 7
g) Anger in the rural area h) Forced recruitment army
i) Crops failures in many parts of India

1)

Famines and epidemic Millions of people died
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H.S.L.C. EXAMINATION KEY/OUTLINE ANSWER AND

MRKING SCHEME
SOCIAL SCIENCE (HISTORY)
SL. Text Mark | Total
No. for | Marks
each
point
(OR)

Any five or relevant points

a)

b)
)

d)
€)
f)

g)

In

C. Rajagopalchari led the movement in Tamil Nadu (Arrested 30"
April 1930)
A group of satyagrahis march from Sylhet to Noakhali
Khan Abdul Gaffar Khan led the movement in Peshawar in North
West Frontier Province
Great protest in Bombay
Fierce protest in Sholapur
At Dharasana Salt Works 2000 volunteers marched to the factory
which was cordoned off by the police
In Gujarat, the movement was vigorously launched in Kheda district
and Bardoli of Surat district

Uttar Pradesh, the movement was associated with no-revenue and no

tax campaign
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H.S.L.C. EXAMINATION KEY/OUTLINE ANSWER AND

MRKING SCHEME
SOCIAL SCIENCE (CIVIC)

SL.

Text

Mark
for
each
point

Total
Marks

23

To reduce the strength of unity between the Hindus and Muslims for easy
domination.

OR
The unity between the Hindus and Muslims was a threat to their authority.

24

A1y one of the following :
i) When beliefs of one religion are presented as superior to those of
others,
ii) When the demands of one religions group are formed in opposition to
those of another group,
iii) When state power is used to establish domination of one rel
group over the rest.

25

Because in democracy people choose their rulers and have control over the
rulers.

26

Any two points :

A democratic government must look after the interests of all --- Different views
and influences from different groups may lead to a balance of power on balance
pressure groups and social movements have deepened democracy. Therefore,
their influence is rather healthy

1+1

27

Democracy has so many challenges — Whenever a challenge is overcome a new
challenge comes up ---- Once a challenge is overcome then the government
goes up to a higher level than before because overcoming a challenge is the
ability of the government concerned ---- Thus a challenge is an opportunity for
progress.

1+1+1 3

28

When power is shared among the three organs of government that is the legislature,
| executive and judiciary at the same level it is called horizontal distribution of power.
Each organ checks the others - is also called a system of checks and balance.

In a federation power can be shared among governments at different levels. Power
is distributed between the national government and state governments —The same
principle can be extended to the levels of governments lower than the state governments
such as the municipality and the Panchayats. This is known as Vertical power sharing.
--- Power may also be shared among different Social, religious and linguistic groups
also. )

—-- Power is also shared among political partics, pressure groups and social movements
etc.

243
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H.S.L.C. EXAMINATION KEY/OUTLINE ANSWER AND

MRKING SCHEME
SOCIAL SCIENCE (ECONOMICS)

SI.

No.

Text

Mark
for
each
point

Total
Marks

29

China used paper money for the first time.

30

Any one of the following :
a) The government has taken steps to ensure that the paper money is accepted by
the people.
b) The government declares the paper money as legal tender.
¢) In India paper notes are guaranteed by the Reserve Bank of India.

31

In the beginning of Indian economy, primary sector contributed the most to the
GDP.

32

Any two of the following :
a) Agriculture is still the mainstay of Indian economy though its share in the
GDP has declined.
b) It continues to provide employment to more than 52 p.c. of the total
workforce.
c) We are worry that productivity per worker is low but a large proportion of
workers is found in agriculture.

1+1

33

Any three of the following :

a) . The World Bank is designed to finance projects that enhance economic
development of member countries.

b) Itis the largest source of financial assistance to developing countries.

¢) It provides technical assistance and policy advice and supervision in the
implementation of free market reforms.

d) With the help I.LM.F. and W.T.O., it plays a central role in over seeing economic
policy and reforming public institution in developing countries.

34

Five points :

1. Income : Income is an indicator of development and it is through that we can get
what we want. If a country has high level of income the country has high per capita
income. .

2. Infant Mortality Rate : IMR is the chance of dying between birth ad exactly one year
of age expressed in terms of death of infants per 1000 live births in a year.

3. Sexratio : It is number of females per 1000 males, sex ratio is adverse for females.
Adverse sex ratio has two main reasons, among others, as neglect of female child
and inadequate maternal health care facilities.

4. Expectation of life at birth : It is a comprehensive measure of health of the people. It
is the number of years an infant would live if the prevailing pattern of age specific
modality rates at the time of birth were to stay the same.

5. Human Development Index : It is a comprehensive m.asure ~fhuman development.
It focuses on three measurable dimensions of human develc pment. It is a composite
index measuring average achievements in three basic dimensions of human

development as health, knowledge and income.

1x3
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Answer all the questions.

The figures in the right hand margin indicate full marks for the questions.

1. Define table. , 1
2.  What is WWW ? 1
3. Wirite the full form of HREF. 1
4. Which loop is called a count controlled loop ? 1
5. What is the purpose of using <BODY> tag in HTML ? 1
6.  Write the HTML code or H,SO,. 1
7. Write the steps to insert a new record in a table.

8. Name the first web browser. Why Internet Explorer is popular ?

9.  Give the basic structure of HTML document.

10.  Write the general orm (syntax) of the switch statement in C.

NN NN

Contd.
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11, Whatis the role of the back option in a web browser ? Write the method of

viewing the HTML code of the current page in a web browser. 2
12.  Explain the working of a Modem. 2
13. Rewrite the following statements by using ternary operator : 2
i (a>b)
{
if (@>b)

14. (a-)
(b)
15. (a)
(b)
16. (a)
(b)

printf ("%d",a);
else
printf ("%d",c);

}
else
{
if (b>c)
printf ("%d",b);
else
printf ("%d",c);
}
What is protocol ? name the protocols used to download programs.
2
What is the role of an ISP ? 1
Name the header file for the library function cirscr ( ). What is the
operator for bitwise XOR ? 2
If x is an array of size 10 and p is a pointer and both are Integer
type. How you make the pointer p to point to the array x ? 1
How do you create a primary key ? 2
Differentiate between hiding and field and freezing a field. 1

96 RM 23 Csc (N) 2 | Contd.
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17.

18.

19.

20.

(a)
(b)

Which tag is used to draw a line across the page ? 1
Differentiate the following : :

i) BACKGROUND and BGCOLOUR attributes.

ii) Hypertext and hyperlink.

Write the HTML code to insert an image PIC. JPG in a document by aligning

with left margin and the size of the image should be the half of the page.

(a)
(b)

(a)

(b)

Name any two major services provided by internet.
Write the steps to open an e-mail account in http://www.rediff.com.

3
Give the log'cal expressions to represent the following conditions:
i) chis a lowercase letter. : -
i) nis odd or exactly divisible by 7.

What would be the output of the following program ? 2
#include<stdio.h>
void main ()
{

int p, n = 546;
while (n!=0)
{

p=n%10;

print ("%3d",p*p);

n=n/10;

}

}

96 RM 23 Csc (N) 3 Contd.
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21. (a) Deine a function

(b) Write a C program to find the factorial of a positive integer using the

recursive function fact (). 3
22. (a) Write the use of the following tags : 2
(i) <LI>
(i) <SUP>
(b) Correct the errors : 2

(i) <FONT STYLE ="COURIER" SIZE ="10">
(ii)<BODY BLINK="YELLOW" TEXTCOLOR-"RED">
23. (a) Draw the loop control structure for the following : 2
(i) while loop
(i) do-while loop
(b) Differentiate the following : 2
(i) Arrays and Structures
(i) Call by value and Call by reference
24. (a) What do you mean by the term Surfing ? 1

(b) Write the uses of Internet. 4

96 RM 23 Csc (N) 4 Contd.
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25.  Write the HTMI code to generate a web page in the format shown below :

A.  FOODS 5

. RICE

IV. FRUITS
e APPLE
e GRAPES
e MANGO

V. MEATS

; b.  CHICKEN

c. PORK
d. MUTTON

VI. VEGETABLES
B. GAMES
4. INDOOR GAMES
o CHESS
| o BADMINTON
o TABLE TENIS
5. OUTDOOR GAMES

IV. FOOTBALL
V.  CRICKET
VI. HOCKEY

96 RM 23 Csc (N) 5 Contd.
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26. Write the HTMI code to generate a web page in the format and style shown
below : 5
1IXYZ SHOPS!
1. GENTS
o SHIRTS
o JTROUSERS
2. LADIES
o SAREES
o SHOES
FOR MORE INFORMATION CLICK HERE

Special Notes :
(a) Title of the page should be 'ONLINE SHOPS'
(b) Background color of the page should be 'BLUE".
(c) The face of themain heading ''XYZ SHOPS!!' should be 'COURIER'
type and 'RED' Color.
(d) The next 'GENTS' and 'LADIES' should be of bold face type.
(e) Pages linked with
SHIRTS s SRT.HTM
TROUSERS as TRS.HTM
SAREES as SAR.HTM
SHOES as SHS.HTM

96 RM 23 Csc (N) R Contd.



\/5)“

17. Write a C program to sort an array of numbers in ascending order. 5
28. (a) Which character should be at the end of a string ? 1
(b)  Write a C program to copy the contents of a string to a new string

and also find the Iehgth of the string without using string functions. 4

96 RM 23 Csc (N) 7 - C.
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A table is a collection of data about a specific topic where each

row is arecord and each column is a field.

1

WWW (World Wide Web) is a series of services that are

interconnected through hypertext.

HREF — Hpertext Reference

For loop is called a count controlled loop.

p—t

Th. <BODY> tag is used to add text and graphics for web page.

H2S04 — H<SUB>2<ISUB>50<SUB>4<ISUB>

[EN—e SR

e -l Bl b

The steps to insert a new record are :
) Select the record after which we want to insert a new record.
ii)  Click New Record in Insert Menu.

MOSAIC was the first web browser.
Internet Explorer is so popular because of its graphical display

and easy to use capability.

Basic structure o HTMI document
<HTML>
<HEAD>
ZTITLE> conus </TITLE>
</HEAD>
<BODY>

</BODY>
</HTML>
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10.

Syntax of the switch statement
Switch (expression
{
case value 1 : Statement block 1
break;
case value 2 : Statement block 2
break;
case value n : Statement block n
break;
default : default statement block

}

Q)

11.

The Back option is used to visit the last visited web pa_=.
Method :

Select Source option from View menu.

12,

Working of a Modem :

Modem changes the digital data from our computer to analog
data, a format that can be carried by telephone lines (modulation).
In a similar manner the computer receiving the data converts analog

data to digital data through a modem (demodulation).

13.

Using Ternary operator :
a>b ? (a>c ? printf ("%d", a);
printf ("%d",c)):(b>c?
printf ("%d".b): ~rintf (:%d",c));
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14.| a) A protocol is a set of rules which computers use to|
communicate with each other across a network.
The protocol used to download programs is File Transfer| 3
Protocol (FTP)
b) Internet connections are provided by ISP whichinstallsamain|
server and through the server give connections to the user.
15.| a)  Theheader file for the library function clrscr () is conio.h 1
The operator for bitwise XOR is .
b)  The printer p can point to the array x by 1 3
P=X;
or,p=&x|0|; 1
16.| a)  Steps for setting primary key
1. Select the field to be used as a primary key. 1
2. Select the primary key in the Table Design Toolbar. 1
b) Hiding a field means that the field is not displayedron the 3
screen. 1
Freezing a field means that the field appears as leftmost column
and itis visible.
17.| a)  <HR> tag is used to draw a line across the page. 1
b) i BACKGROUND attributeis used to specify a URL which
is pointing to an image. This image will be used as a
background for the document. 1 3
BGCOLOR attribute is used to set the dolor of the
background.
i) Hypertext is an ordinary text that has some extra features. |
Hyperlink is the link that help the user to move from one
page of the web site to another page.
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18.] <HTML> Y
<BODY>
<IMG SRC = "PIC.JPG" ALIGN ="LEFT" 2 3
HEIGHT = 50% WIDTH = 50%
</BODY> &
</HTML>
19.] a) The two major services provided by Internet are :
E-mail, E-commerce. 1
b)  The steps to open an e-mail account in http://www.rediff.com: 4
1. Connect to the Internet.
2. Open any web browser, say Internet Explorer. 3
3. Type www.rediff.com in the address bar and press the
Enter key.
4. To open a new account click on Sign up.
5. The rediff registration form will appear.
6. Fill in the information and then click on the Register
button.
7. If all the entries are filled properly our account will be
created.
20.| a) Logical expressions
) ch>="a'&eh<="7 1
or ch>=97 & & ch<=122 3
ii) n%2! =0| |n%7==0 1
b)  The output of the program will be 1

36 16 25
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21.| a) A function is a self contained block of cod that performs a .
particular task.
b)  /x....... factorial of a positive integer ......x/
#include <stdio.h> 1
#include <conio.h>
void main ()
{
int n, act (int);
clrser (); L 4
printf ("Enter < positive integer :");
scanf ("%d", & n);
print ("Factorial = %d\n", fact (n)'
getch (); 1
i
int fact (ikInt k)
{if (==0)
return 1;
return k * fact (k—1);
}
22.| a) i) The <LI> tag is used to indicate a list item as contained | |
in an ordered list or an unordered list.
ii) The <SUP> tag is used to displayed the enclosed textas| 1
a superscript. 4
b) i <FONTFACE="COURIER"SIZE="4"> 1

ii) <BODY VLINK ="YELLOW" TEXT = "RED">
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23,

24.

a)

b)

Loop Control Structure

1) While loop
— |

test
cendition ?

Body of
the loop

i) Do-while loop

PRI, SRS

Body of
the loop

test
condition ?

i) In arrays all the array elements are of same data type.
In structures all the structure members may have different
data types.

ii) The process of calling a function by passing the actual
values of the variables is called call by value.
The process of calling a function using pointers to pass

the address of the variables is called call by reference.
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24.| a)  Exploring information on the web is called surfing. 1
b)  Internet is used for different purposes by different people.
Some uses of'the Internet as listed :
1. E-Commerce (buying, selling products)
2. Research (online journals, magazines, etc.) ’
3. Education (e-learning, distance learning) i
4. E-Governance (online filling of income tax)
5. Online ticket booking (airplane tickets, railway tickets, etc.)
6. Online payments (Credit card payment, Debit Card payment).
7. Video conferencing
8. Net banking
9. Social networking (sites like facebook, watsapp, twitter, etc.)
25.| <HTML>
<BODY> 1
<OL TYPE ="A" START ="1">
<LI> FOODS
<OL TYPE ="i" START ="3">
<LI> RICE 5
<LI> FRUITS
<UL TYPE = "DISC"> 1
<LI> APPLE
<LI> GRAPES
<LI> MANGO
</UL>
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<LI) MEATS
<OL TYPE ="a" START ="2">
<LI> CHICKEN
<LI> PORK
<LI> MUTTON
</OL>
<LI> VEGETABLES
</OL>
<LI> GAMES
<OL TYPE ="1" START = "4">
<LI> INDOOR GAMES
<UL TYPE ="CIRCLE">
<LI> CHESS
<LI> BADMINTON
<LI> TABLE TENNIS
</UL>
<LI> OUTDOOR GAMES
<OL TYPE ="1" START "4">
<LI> FOOTBALL
<LI> CRICKET
<LI> HOCKEY
</OL>
</OL>
</OL>
</BODY>
</HTML>
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26.

<HTML>
<HEAD>
<TITLE> ONLINE SHOPS </TITLE>
</HEAD>
<BODY BGCOLOR ="BLUE">
<FONT FACE = "COURIER" COLOR = "RED">
<HI ALIGN ="CENTER"> !'XYZ SHOPS!! </HI>
</FONT>
<HR>
<OL TYPE="1" START ="1">
<LI> <B> GENTS </B>
<UL TYPE ="CIRCLE">
<LI> <A HRE = "SRT.HTM"> SHIRTS </A>

<LI> <A HREF = "TRS.HTM"> TROUSERS </A>

</UL>

<LI> <B> LADIES </B>

<UL TYPE = "CIRCLE">
<LI> <A HRE = "SAR.HTM"> SAREES </A>
<LI> <A HREF = "SHS.HTM"> SHOES </A>
</UL>

</OL>

<HR>

<CENTER> FOR MORE INFORMATION

<A HREF = "INF.HTM"> CLICK HERE </A>

</CENTER>

</BODY>

</HTML>




—(85)-

Q. Value point/Outline Answer Mark | Total
No. for | Marks
each
point
27.| /*....Programm sorting an array .... *
#include <stdio.h>
#include <conio.h> I
Void main ()
{
inta|50|, n, i, r, temp;
elvser (); 1
printf ("Enter the size of the array:");
scanf ("%d", & n);
printf ("Supply tne numbers :/n");
for (=0; i<n-1: i44) I
for (i = 0; r<n—1-i; j++) 1
{
if (aljPalj+1]) 5
{
temp = alj|;
alj| =afj+1];
a[j+1] =temp; 1
}
3 1
printf ("Nos. in ascending order;\n");
for (i = 0; i<n; i++)
1

printf ("%3d", ali]);
getch ();
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28.| a) At the end of a string there should be a null character (10°). 1
b) /*...Program string copy ...*/
#include <stdio.h> ,
#include <conio.h>
void main ()
{
char str 1 [30], str 2 |30];
int i; 1
clrser (); g
printf ("Enter the string:");
gets (str 2);
for (i=0; str 2i| | = "\0'; i++)
str 1 |i| =str 2 |i]; 1
str 1 ]i| \0';
printf ("Contents of new string:");
puts (str 1);
printf ("Length of the string = %d\n",i); i
getch ();
}
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2018
HIGHER MATHEMATICS
Full Marks-80
Pass Marks - 20

Time: Three hours
Aftempt all questions.

96 RM 24 Hm (N)

The figures in the right hand margin indicate full marks for the questions.

For Question Nos. 1 to 5, write the letter corresponding to the correct answer.

12
1. The 5th term in the expansion of (x— ;1(-2-) is :

(A) 495
(B)  —495
(C) 792
(D) -792

2.  Thevalue of sin (-1530% is :

L

Contd.
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3. The sum of the cubes of the first n natural number is : 1
n(n+1)
w

o ]

o [

D) n(n+1)(2n+1)
6

4  Two forces magnitudes P and 2P acton a particle in directions inclined at
an angle of 120° to each other. The angle between the resultant force and

Pis: 1
(A) 30°
(B) 45°
(C) 60°
(D) 90°
5. IfA= [Q 21] and A2 = 4, then the value of K is : 1
A
(B)
() 2
(D)
6. What is meant by an algebraic structure ? 1
iZ, If P(n) is the statement "n2 > 10", prove that 1

P(k) is true = P(k+1) is true.

8 What is meant by an algebraic identity ? 1

96 RM 24 Hm (N) 2 Contd.
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10.
11.

12.
13.

14.

15.

16.

17.

18.

19.

20.
21.

22.

23.

Define an upper triangular matrix. 1
If a matrix A has 5 elements, what are the possible types A can be of? 1

If ABCD is a cyclic quadrilateral, prove that 1
sin A=sin C.
State Parallelogram of forces. 1

The resultant of two equal forces P and P is of magnitude V3P. Find the

angle between the forces. 1

prove that the binary operation * on R deined by a*b = a+b+1Va,

b € R is associative. 2

Insert two arithmatic means between a and b. 2
9

Find the containing x° in the expansion of (xz—%) . 2

Find a matrix C such that A + B + 2C = 0, where A = ['03 14] and

e=[2 3] :

- &in2E 4 cin23% 4+ cin22k 4 ain2lT
Evaluate : sin 4t Sin3+ sin®Z + sin 7 2

If the p" term of an H.P. be q and the g™ term be p, prove that (p+tq)"termis

£ 3
p+q-

IfA= g ; ] find a matrix B such thatAB = I. 3
ifa+b+c=0, prove that

(ab + be + ca)? = %(a2 +b? + 3
prove that a®x + b%y + ¢?z = (x +y + z)(a? + b2 + ¢?), if a? = x’~yz, b? = y>~zx and
c?=z%xy. 3
Find the principal solutions of cos@ + /3sin6 = 2. 3

96 RM 24 Hm (N) 3 Contd.
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28.

28,
30.

31.

32.
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Let R be a given force. If OX and OY be two given directions making
angles o and 3 respectively with R, on opposite sides of it, write down the
components of R along OX and OY. hence obtain the resolved parts of R
along and perpendicular to OX. 3
prove by using the principle of mathematical induction that ¥neN,

Or,
a"—bn is divisible by a-b.
Consruct the composition table for the set S={1,2,3,4,5, 6}with respect
to the binary operation of multiplication modulo 7. From the table, find the

identity element and the inverse of eacl: element of S. 4

prove that every square matrix can be expressed uniquely as the sum of

a symmetric matrix and a skew-symmetric matrix. 4

State and prove Binomial Theorem or a positive integral index. 5

Find the trigonometric ratios of 270°+6 in terms of those of 0. 5

Factorise : x(x—2)(2x+1)(2x-3)-63. b
Or,

X4+ 4x3y — 10x2y2 + 4xy®+ y*.
150 workers were engaged to finish a piece of work in a certain number of
days. 4 workers dropped the second day. 4 more workers dropped the
third day and so on. It takes 8 more days to finish the work now. Find the
number of days in which the woik was completed. 6
Three forces 3P, 7P and 5P actat a point in directions parallel to the sides
AB. BC and CA of an equilateral AABC. Find the magnitudes of the resultant
and the angle made by the resultant with BC. 6
Or,

The resultant of two forces P and Q is /3Q at an angle 30° with P. Show
that either P = Q or P = 2Q.

96 RM 24 Hm (N) 4 Contd.
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SUBJECT : HIGHER MATHEMATICS - 80 marks.
Q. Answers Mark | Total
No for | Marks

) each
point

1. | (A) 1 1
2. | (D) 1 1
3. | (B) 1 1
4. | (D) 1 1
5. | (C) or any option 1 1
6. | Book definition. 1 1
7. | P(k)is true = k*>10 1 1

= (k+1)>>10

= P(k+1) is true.

Book definition. 1 1

Book definition. 1 1

10.| A can be a column matrix or a row matrix. 1 1

11.| sinA =sin (180°%-c) [.- A+C = 180°] 1 1
=sinC

12.| Book result. 1 1

13.| Let 6 be the angle between the forces.
Then by question,
(V3P)2 = P2+ P2+ 2.P.P.cos®
= 3P? = 2P? + 2P%cosb 1 1
= P? = 2P?cosf
= cosf = %
= 06=60°
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14.

We have a*b = a+b+1Va, beR
Then, (a*b) *c¢ = (atb+1)*c
= (a+b+1)+c+1
= atb+c+2
And *a(b*c)  =a*(btct1) \
= a+(b+c+1)+1
= a+b+c+2 >
Thus, (a*b)*c =a*(b*c) v a,b,c e R
Hence the operation * is associative.

15.

Let x, and x, be the required means.

Then a, x,, X,, b are in AP.

Let d be the CD of the AP, then,
b=a+ 3d

= d= ——béa

b-a _ 2a+b

3 3

and x2=a+2d=a+2(-t—)—'i)= a—+32—b

3
2a+b dnd a+2b
3 <l

x,=a+d=a+

Hence the required means are

16.

41
X

T., = (179,03 (L) = (=1) 9. x"*"
Since this term involves x®, then
18-3r=9=r=3
Hence, the required term = (=1)°9_x°
= —84x°.
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7. A=[; {]anaB=3 3] :
Now, A+B+2C =0
= [31]7 3k2c=o i ‘
= 2C=[% §+2c=0 j 2
= 2c=[% 9 \
= 2c=[4 %] >
- i 4 6| =12 -3 1
T 9 [2 4] - [1 2] )
18.
sinz;}+ sinz%E + sin2§4E + sin274—n )
1
< 2 L o _n i 1% T _I
sin? 7 + sin?(n 4) + sin? (n + 4) + sin?(2n 4) >
= im2 Ly aim2 T o ainTye oo o T 2
sm24+sm 4+( sm4) +(sm4)2 )
\
- im2 L i T ino U
2sin 4 + sm24 +sin 4
" g ' ; 1
= in2 <= =l — b —
dsin? 4x(ﬁ) qx—-=2. J
19.| Letabe the first term and d be the CD of the corresponding AP.
Then, by question, a+(p—1)d= —% ---------- (1) 1
a+(g-1)d =  ~--—=(2)
From (1) and (2), we get a = ;—q andd = % } 1 3
(p+q)" term of the coresponding AP
= a+(p+g-1)d
= ~p-4‘c—’+(q~i-q+1)_piq 1
= P*q
Pq
Hence, (p+q)" term of the HP = P
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20. _[2 1
A= [5 3 ]
LetB=[a b]Then ¢
c d !
AB =1
2 11la bl_[1 0 \
= |2 225l
5 3]lc d [0 1 ] 1 3
2at+c 2b+d | _ |1 O
= |sa+3c 5b+3d] a [o 1 ] >
2a+C =1
5a+3c =0
= { 2b+d=0 )
5b +3d =1
= a=3,b=-1,c=-5,d=2 } 1
_[3 -1
Hence, B = [_5 2]
21.| Book result 3 3
22.| a? = x*-yz, b? =y*—zx.c?=2Z*-xy ———- (1)
alx+by+c?z = (x-yz)x+(y*—zx)y+(z>—xy)z [. of (1)] } 1
=x3+y*+2® 3xyz
1 3
=(X+y+2) 0+ Yy + 22— xy—yzZ-2ZX) }
= (x +y +2) {(x2 =yz) + (y* — zx) + (> = xy)} } 1
=(x+y+2) (@ +b? +c)
23. cosO + J/3sing =2 \
=  /3sin® = 2— cosb
=  (V3sin0)? = (2- cosh)? ;
=  3sin?0 = 4—4cos0 + cos?’ >
=  3(1-cos?0) = 4 — 4cos0 + cos’0
=  4c0s%0—4cos6 + 3 /
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= (2cos6-1)2=0
= 2c086-1=0 1
= cosf = 1?
= cosb = cos]
= 6 =2nn%% n e Z of which the volume of 6 between 3
0 and 2 are § and S—E But 6 = if does not satisfy the 1
given equation.
Hence, the principal solution is given by 6 = %
24.| Book result 3 3
25.| LetP(n):1+2+3+ .. +n< F(@n+1y \
Whenn=1,LH.S.=1andRHS. = $(2+1)2= 2 1
. LLHS.<RH.S.
Then, P(1) is true.
Assume that P(k) is true for some volume of k of n. Then,
14243+ 4 +k < T(2k+1)2 :
Adding (k+1) to both sides, we get
THZETF covvvinmvsnoss +(k+1)<—;—(2k+1)2+(k+1) /
= %(2k+1)2+ 8(k+1) \ i
= T(ake+12k +9)
= L (2k+3) 1
= Tga(k+1) + 12
=S 1+2+34 + (k1) < g{2(k+1)2 + 1y }
= P(k+1) is true.
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Thus, P(k) is true = P(k+1) is true
Hence by the principle of mathematical induction, 1
P(n)istrue ¥ n € N.
{4 24 BE pocasssbonss +n<4@n+1PVneN.
OR
Let P(n):Ain) = a" — b" is divisible by a - b.
Now, A1) = a — b, which is divisible by a - b. 1
- P(1) is true.
Asume that P(k) is true or some volume k of n. Then,
flk) = a" — b is divisible by a — b. 1
Letfik)=(@a—-b) (@, b) .ccooininiis (1)
Where @(a, b) is some polynomical in a and b. \
We have flk+1) = ak'-b"
= ak*! —akb + a*b — b+ 4
= a¥(a — b) + b(a*~ b¥) L
= aX(a - b) + bflk)
= a(a-b) + b.(a~b)D(a, b) [ of (1)]
= (a —b) [a* + b@D(a, b)], which is divided by a - b/
= P(k+1) is true.
Thus, P(k) is true = P(k+1) is true.
- P(n)istrue v ne N :
Hence a" — b" is divisible bya—b ¥ n e N
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26.

Composition Table
2| 34| 5

QDW= —=
W= N

o|la|d|w[h|=]x

AN O|W

A INW| OO O®

(SRR RS ARG F P B SN
N[O |=2W[O

6| 5

From the above table, we see that

a*1=a=1*aVaesS

-1 € S is the identity element.

Also, 1*1=1=1"=1,
2*4=1=4*2=2"=4and4'=2
3*5=1=5*3=>3"'"=5and5"'=3
6*6=1=>6"1=6
Hence the inverse of the elements 1, 2, 3,4, 5,6
are 1, 4, 5, 2, 3, 6 respectively.

27.

Book resuit.

28.

Book result.

29,

- Book result.

30.

x(x —2)(2x + 1)(2x - 3) -63
= x(2x -3)(x-2)(2x +1)-63
= (2x2-3x)(2x*-3x—2)—- 63
= w(y —2) — 63 [Putting y = 2x*— 3x] }
= y—-2y—-63
= G+DO-9) J
= 2x*=3x+7)(2x*-3x-9) }
= (2x*=3x+ 7)(2x + 3)(x - 3) }

OR
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¥+ 4x%y — 10x%2 + 4x)? + 7
= @) @y +ap) - 108y }

= (2 +y7) 2= 2x% + 4xy(x* + 7)) — 10x%)? }

= (@) HAnp(d+y) - 120y

= w + 4ud — 1297, where u = x*> + y*and 3=xy}
= (u—29) (u+69)

= (@FHy-2) @ +y +on) }

= G- E eyt }

31.

Let the work was completed in n days when the workers
started dropping.
- Total number of workers who worked in all the n days
= 150+146+142 + ...... to n terms [an AP series with
a=150&d=-4]
= %[2x150 + (n— 1)(-9)]
= 20(76 = N) oo (1)
Had the workers not dropped, then the work would have finished
in (n-8) days with 150 workers working on each day.
- Total no. of workers =150(n=8) ................. (2)
From (1) and (2), we have,
2n(76 — n) = 150(n - 8)
=>n*-n-600=0
= (n=-25)(n+24)=0
=>n-25=0[" n+24 0]
=>n=25 )

Hence the work was completed in 25 days.
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Let X and Y be the algebraic sums of the resolved parts of the
forces along and perp. to BC respectively.
Then, X = 7Pcos0°? + 5Pcos120° + 3Pcos24°
=7P x 1 + 5P x(-1%) + 3P x (%)
« =7P-4P=3P
and Y =7Psin0® + 5Psin120° + 3Psin24°
=7Px0+5P x 3 +3P x (-3
= /3P
Let R be the magnitude of the resultant of the given forces.
Then, RZ=X2+Y2=(3P)2+ (/3P)2=12P?
= R=V12P" =2/3P
Let 6 be the angle made by resultant with BC. Then,
tang= ¥ = 8P = 1 = 9=30
Hence the resultant of the given forces is 2\/3P in a direction

making an angle 30° with BC.

|

OR
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1
S
P 7
Let o be the angle between the forces P and Q. \
Then, by question,
(V3Q)?= P2+ Q? + 2PQcos o« ’
= 3Q?2=P?2+ Q%+ 2PQcos«
2 2
-2Q° P
= COS«x TRt 1) 6
Since the resultant force /3Q makes an angle 30° with P,
Then, 1
J/3Qcos30° = P + Qcos « [using RCos® = P + cos a]
= 2 2
i R 2Q=P 2«
= V3Qx 5 =P+Q(2=F) [ of (1)
2 2
3Q 2Q P
e S +
= 5 =P*Sra
= 3PQ=2P?+2Q%*-P?
3
= P2-3PQ+2Q%*=0
= P-QFP-2Q)=0
= P-Q=00rP-2Q=0
= P=Qor P=2Q
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2018
ELEMENTARY MANIPURI
Full Marks - 80
Pass Marks - 20

Time: Three hours
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SCORING KEY / OUTLINE ANSWER AND MARKING SCHEME
Subject and Paper :- Elementary Manipuri (2018)

Q. Value Point/Key/Outline Answer Mark | Total
No. for | Marks
each
point
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No. for | Marks
each
point
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No. for | Marks
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point
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SCORING KEY / OUTLINE ANSWER AND MARKING SCHEME
Subject and Paper :- Esei-Nongmai
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point
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2018
COMMERCE
Fuli Marks - 80
Pass Marks - 20

Time: Three hours

All questions are compulsory.
The figures in the right hand margin indicate full marks for the questions.
For questions 1 to 5 answers may be limited to 30 words.
1. Who are the two parties in an insurance contract ? 2
REQE T HEPY° I’ TR R220f8 Mesfe Tofs We-wee? 2
SIS FChe S e #1fe Sifey Fr Fwar 2
2. What are the uses of financial statement to the bank ? &
30T TRR Efteofra oxymese mef @ees mfame ?
% S RIHCE (BBCroa 1 PIAT Aol ?
3. How is a Routine order drafted ? 2
eyfe Tege BEHC STHRT° ?
(o7 87T TINT ZoMCST 7
4. How does advertisement increase sale of a product ? 2
T HERT TRIGSTCRTST W% TR FCET RO 5CH%rEsT ?

0O FAN QOO GECIBAT (I ST (TIIA 512 (2ASIZACE 7

Contd.
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5. Whyis life insurance not a contract of indemnity ? 7

HERT S5E 5E0a°g Tof meyy T Tt s Aefyf Tsrefse? 2

AN FRT THAH T FCGT GF LN SR ?

Answer Qeustion Nos. 6 to 11 in about 40 words.
6. 4ow is Entrepot trade operated ?
U B TS SR BERT MILIIIE ?
« GG (G ST ATSTARPAT ?
7. Write any three facilities the bank gives to a fixed deposit holder.
FmIT EfTe RIChi PIRe TRE N8 BECS TIFR 5%
@, s e (2eed ST AT ST ST 2|
8. Write the three objects of making an offer.
WER TH 58T Mexr TARY maf Beft® 5ems |
S ST 5 A WG I FIHCAT 29C |
9 Name three accounts which may appear to the credit side of Trading
Account.
sy CEEEE! HeshE CEAR THE A8 TEEDS THAK 58S |
(i, TG s Y AIe AR FAT AFIEH SZATR TIPS |
10. What are the purposes of the foiiuwing items in a marine insurance ?
(a) Hull insurance  (b) Cargo insurance (c) Freight insurance
RR a8 Feafe seoagont Tswrofl Tofnf 7L mefe? 2
m. AY SEVEEY, ©. HET? FEVEEO T. EXK REQETO
T AT (iR TS SFCHAAR AN T AT 2
F) Zo S, 3) IR0 DL, ) @ LA
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11. Calculate the cost of goods sold :
Net sales — Rs. 2,00,000.
Gross profit 25% on cost.- 3
ReRf8 MowmEd wRe MIPIS :
C% 0°JM - §: 8,00.000
a0 REPENS - ERom! RE 8¢
CATIRAT (PN T L AE
CT{ECF{FW - &:R,00,000
CEITT CATRED - (318 Y oIT S ¢ %

For Question Nos. 12 to 16 answers may be limited to 60 words each.

12. Write the process of endorsement of a cheque. 4
RO TR TBREM ST CfRAR semz |
(OIS ST T (IR fovy 3 |

13. Show journal entries at the end of the year :
On January 1, 2017 a machine was purchased for Rs. 58,000. The
transportation charges amounted to Rs. 2000. The rate of depreciation was
10% p.a. 4
RATH TS8R ZeCN 5Eef @ -
ZCRef ¢, ROSR ¥ FRIE TR &: $$000 mige Sas 1 my e THe g: K00
il | FfmeofR-oenf ©se Rx ’efs conf RO € |
BRI ST SR e B :
SRR 3, 20359 T QoA W1 o: evr, 000 g (73| Y TP GBAT : Y000
A1 FreaBieEeTa a2 sm 53w 3 o5 b @3

14. Explain primary industries by giving two examples. 4
¥8R UCf MR ma'swel seroreis BRSs B 5)° SR |

Y e A Az Twige srwg Gaes oS |
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15. How can customers account in the bank be closed ? 4
SOy & 8 BONRT TEHIDS THE HERC FHIN RS 2
(@FS! T ST QG TN ST LRI T 7

16. Draw a specimen of a cheque using the following items : 4
mEg etz RerIofn Tof ofzfecae Row TRl orfoffee e TR O°RFE |

ST AR AR ST RS (e S R (PR o ¢ :

(a) Drawer : Ramu, Imphal
(b) Payee : S.Arun Singh
(c) Date . February 25, 2018

(d) Amount : Rs. 5000.

Answer and solutions for Question Nos. 17 and 18 should be, given as
required in the questions.

17. From the given information, prepare a Trial Balance : 8
FRR Miefs RerAofn TOfF! BesRed 5°3°80 TR OIS :
T T AR ST AR (IR SN S :

Particulars Rs. Particulars Rs.
Opening Stock 15,000 | Bills receivable 12,000
Capital 60,000 | Debtors 20,000
Wages 30,000 | Returnoutward 2,000
Sales 1,60,000 | Creditors 5,000
Salaries 10,000 | Bills Payable 9,000
Return inward 5,000 | Discount allowed 3,000
Purchases 1,05,000 | Carriage inward 3,000
Commission received 6,000 | Caseinhand 2,000
Machinery 37,000

96 RM 22 Com (N) 4 Contd.
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18. Different items are given to you. From it prepare a Balance sheet making
adjustments with additional information as at 31-12-2017 : 8
st Mefs Rerewfm TOfRnf Treom@s (ANRIErses) mRROM Kee &am
8T Of TR J 89-SR-80FK ¥ OFIE |
AT MG AR SN GGCBCHD (- BIT) TN /T oTeslT et =
TN T O3 -53-303 9 O ¥IHFS |

Particulars Rs. Particulars Rs.

! Purchases 40,000 | Saies Return 2,000
Commission received Z2.100 | Wages 8,000
Capital 30,000 | Salaries 2,000
Bills payable 1,000 | Machinery 10,000
Interest paid 700 | Building 18,000
Opening stock 7,000 | Creditors 10,000
Sales 50,000 | Cash 2,000
Debtors 10,000 | Bad Debts 600

Adjustments :

1. Closing Stocks — Rs. 20,000

2. Outstanding — Rs. 400

3. Depreciate building at 10% p.m.
4. Amount of Net profit — Rs. 16,800.

Answer for Question Nos. 19 to 28 may be as short as possible.
19. Name one advantage of current account to a depositor. 1
HE°T4 THFSS ITFS RITS TRY @af @eCs MIw° 2 TR WIS |

LD GPITD U TEF ST, | v AT AT 7 TSR 215 |
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20. What is unsolicited enquiry ? 1
wemrefofyes TeERef Asof mefe? 2
AT Zerla BT ST ?

21. On which side of profit and loss account will commission on sales be
recorded ? 1
MERERS P°ER S0 THsYE’ HeRsS CHIN ER0S T8 030 Tof Reofemsm: ?
Confed awmaaﬁ%mwﬁnwmwﬁmﬁwmar ?

22. Who may run warehousing and storing departments ? i
Ree Agofl TROD oFefn ik es Tof BEC K358 R ?

T BIORR SR CRIRR A ST S 5aTIZT TS 2

23. How can a bearer cheque be made an order cheque ? 1
Y HEAC BfREE ROIK TR R0 TEB RBRF° 2
0o AN AR (5137 S (576 G=1T FIsWCaT ?

24. What is automatic teller machine ? 1
wseResir seIce Ferfe Assof mefe? 2
SLIcab (ham (Nio 2R SfReA 2

25. What is the importance of subrogation in an insurance ? 1
REOECO THE OZFF0BH RYT RS Hefe? 2
T SR AN A G2 IIRCAT 7

26. Why is packing necessary in sending goods ? 1
I TR TR Femmfn  cafs mefne? 2
(i1 ST R (AR COTTRE SIRACAT 2

96 RM 22 Com (N) 6 r Contd.



of 127 )=

27. The amount of creditors is Rs. 20,000. Reserve for disciount on creditors is
2% p.m. Show the entry at the end of the year. 1
Hegfsenf T REEs 8: 20,000 Cf 1| @f2erd B wfomaes T me sfseor K5
RAfR /T | RPIE TAPKBR ¥ TR TEey! T @6 |
(FreRN QST & &: 0000 | FaH @ MEreS e rafrexar smr 53 o
219 AR (19T «ftg &y S |

28. What does a prompt reply of an enquiry suggest ? 1
seERefmf BN B8 Mag e swafzof mef? 2

BRI Ao PRT NG ST e 11 2

To answer Question Nos. 20-34, choose the correct alternatives and rewrite.
29. A cheque which can not be encashed at the counter of the bank, is known as
1
B NIrEf BEEFeR EHEL I RS KT TR -—------ .
(TEP FIGHIAT ST AT (57 O - - - - - &3
a) Order cheque.
TaRe RO |
SH (51 |
b) Crossed cheque
HaPw R |
C& CBJF |
c) Bearer cheque

BfRee R°m I

g o

96 RM 22 Com (N) 7 . Contd.
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30. Theinsurance policy which covers losses or damages from multiple reasons,
is called 2 1
%A FEeT REF EREDIC ReR THEC DETR TRl T BRE R°Uoficfs

SEQE°B TSIl FEI TRE - i
ST TS5 TR AT S G (AR S - St I R ZE ANy
TS - - - - - SEY

a) Replacement policy.
afmecomes meefof i
fcemTeaD conferi |

b) Floating policy.
Ecwfm seafof |
GITGR ot

c) Comprehensive policy.
mEAme emfs meafof |
FeraRr (e

31. The central part of business correspondence is . 1

a) Offer Letter.
wEawf RIGT |
ST oo |

b) Order Letter.
wergen L |
ergat fofdar |

c) Enquiry Letter.

scmRef RITC |
Swpifan oo
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32.

33.

Commercial banks do not cover

a) Urban cooperative banks.
TEBT EPTM S8 ST |
S[FA (FISADBI (% |

b) State banks.

O BT |
&6 @@=
c) Nationalised banks.

C°MC°8%Z S°WT |

CPTCAI® (T |
Indemnity means
wegerefefmf Tegsf ---------- .1l
Bl DI A K A — Rl

a) trust and confidence.
RS THRQD LT3 |
CRTTRPAT SR TSR |

b) to make good of the loss suffered.
RI%’8 W% TR THRIT PCZiES |
TGN CAiIR =7 SITF 2fEGaT |

c) toreduce the loss of the subject matter.
RO%ES 0BT 7MY TR OF T FEIATS |

TG SACES (AT Il 1P 222l |

96 RM 22 Com (N) 9
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34. Letter of complaint comes d 1
mramcgsnf RiLf&f --------- ammef |
FACLoS oo - - - - - - - ARl |

a) after the quotation is received.
ER*0T E T8 Fyls |
(IO TR T |

b) after order is sent.
TR TEQS PUK |
\GHE YT TRAT |

c) after the goods are checked.
% TR KW ¥ &8 POR i
CAAIR & (5 COTRAT T9RAT |

96 RM 22 Com (N) 10 Contd.
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SCORING KEY / OUTLINE ANSWER AND MARKING SCHEME
Subject and Paper :- Commerce [Class-X]

Q. Value Point/Key/Outline Answer Mark | Total
No. for |Marks
each
point
1. | a) Insurer (Insurance Company) & 1
b) Insured (an individual/group of peoples) 1 2
2. | Payment of loan with interest whether the loan has been properly 2 2
used/not.
3.. | Correctfilling of forms as done previously. 2 2

Not necessary for new words or terms.

4. | a) Education, knowledge of the goods. 1

b) Quality and other information. 1 2
5. | a) It cannot return the lost life. 1

b) Only some maintainable amount is given. 1 2
6. | a) Firstthe required goods are imported with reasonable quantity. 1%

b) They are again modified and reconstructed and exported. 1% 3
7. | a) High rate of interest is allowed. 1

b) Used as a security for other borrowers. = 1 3

c) Premature withdrawals are allowed on special cases. 1

"

8. | a) Toopennew mﬁr_kefg 1

b) To make dull market active. 1 3

c) To create new relationship with firms. 1
9. | a) Sales Account 1

b) Closing Stock 1 3

c) Gross Loss ‘ 1
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Q.| Value Point/Key/Outline Answer Mark | Total
No. for | Marks
each
point
10.| a) The Bedy of the ship is insured. 1
b) To protect from perils and save cargo goods from insurance. 1 3
c) To save freight or carrying charge from insurance company. 1
11.| To be calculaed on Sales : Rs. 1,60,000. 3 3
(Calculation should be shown)
12.| Simple signing a cheque.
Transfer the cheque to somebody. 4 4
A bearer is not necessary for endorsement. Order cheque must be
endorsed before presenting to the bank. (Proper exp'anation required).
13.| Total amount of the machine : Rs. 60,000
Depreciation : Rs. 6000
Depreciation A/C ....... Dr. 6000 1
T; Machine A/C ................. 6000 2 4
[Being the machine depreciated] 1
Narration is essential.
14.| Meaning : Engaged in activities of extraction, reproduction and
developments of plants and other living organisms. 2
Example : Extractive industries & 4
Genetic industries.
15.| a) to inform the banker in writing his intention to close. 1
b) Bank account not operated for many days. 1 4
c) Breaking Bank Rules. 1
d) Customer dies, unsound mind, etc. 1
[With brief explanation]
16.| A specimen cheque is to be drawn : 242 4
Insert there in the required information.
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Q. Value Point/Key/Outline Answer Mark | Total
No. for |Marks
each
point
17 | Correct putting of the given items.
The two sides are to be equal. Correct total 242000 8 8
Process marking may be made.
18.| To be shown : Calculation of Depreciation
Net Profit should be used in Balance Sheet 8 8
Closing Stock and outstanding wages are to be used.
Process marks may be awarded.
19.| Overdraftcan be taken 1 1
20. | Buyer's own initiative to get some knowledge/information. 1 1
21.| Debit side, it is an expe 1ses. 1 1
22.| Private/Public and Govt. undertakings (any one). 1 1
23.| By cutting the word bearer. 1 1
24. | Modern technique of taking money with a Card etc. 1 1
25.| Under this the insurer has the right to take the goods after giving
the insurance money to the insured. 1 1
26. | Itis for se-urity, protection of the goods. 1 1
Itis for beautifaction and confidence. (Any other).
27.| Reserve for Discount on Crs A/c Dr400
To Profit and loss Alc .................... 400 1 1
[Being for making reserve on Creditors.]
28.| The seller is fully conversant and has respect to the buyer. 1 1
29.| b) Crossedcheque. 1 1
30.| ¢) Comprehensive policy. 1 1
31.| b) Orderletter. 1 1
32.| a) Urban cooperative banks. 1 1
33.| b) Tomake good of the loss suffered. 1 1
34.| c) Afterthe goods are checked. 1 1
N.B.: Students may get marks if his answer is correct. It does not matter, the answer in¢ludes in
the key or not.
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FINE ARTS
Full Marks - 48
Pass Marks - 12
Time: Two hours

All questions are compulsory.
The figures in the right hand margin indicate full marks for the questions.
Answer in your own words as far as practicable.

For question Nos. 1 to 6, choose the correct answer and rewrite them.

1. The method of printmakingn in which the finished prints often resemble water-
color drawing is called . 1

a) Mezzotint

b) Drypoint
c) Aquatint
d) Linocut

2. Which material should be used to produce a sculpture which is less brittle,
cheaper, and lightweight ? 1
a) Bronze
b) Fibreglass
c) Stone blocks
d) Wood blocks

Contd.
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3. Theartand practice of planning, projecting ideas, experience with visual and
textual contentiscalled . 1
a) Fashion design
b)  Graphic design
) Decorative design
d, Industrial design

4.  The traditional art of Manipur was illustratéri | S 1
a) Manuscripts
b) Wall paintings
c) Stone carving
d) Wood carving

5. Which phase of Bhadra's painting depicts culture and tradition during those
days ? 1
a 1 Phase
b) 2" Phase
c) 3“Phase

d) Both 1tand 2™ Phase

96 RM 37 FA (N) 2 Contd.
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10.

11.

12,

13.

14.

15.

16.

17.

The famous bronze icon of the Chola period is : 1
a) Shiva and Parvati

b) Sembiyan Mahadevi

c) Nataraja

d) Dancing Girl

What is clay mode!ing ? 1
Where was the 1% phase of Bhadra's painting used ? 1

What influence the contemporary art of Manipur during the early70s? 1

Why Mathura school of art is renowned worldwide ? _ 1
Which geographical region was the heartland of the Cholas ? 1
Whatis lithography ? Mention one application of lithography. 2
What is Applied art ? Mention one field of Applied art. 2

When was the Art school became a college ? What was its main aim ? 2
What are the popular arts of the Mauryan Period ? 2
Why the contemporary art in Manipur was at its minor state in comparison to
other states ? 2

Mention any three materials used in mold making. 3

96 RM 37 FA (N) 3 Contd.
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18.

19.

20.

2l

22.

23.

Give a short comment on contribution of Artist in the field of Art and Art
education in Manipur. 3
Analyze three characteristics'of sculptures of seated Buddhas during the
Mathura School of Art. | 3

What are the distinctive features of Gandhara style of Buddhist art ? 3

Explain the tools and techniques of acrylic painting. 5
Write a short note on the first traditional art of Manipur. 5
Describe the technique of painting in Ajanta cave. 5

96 RM 37 FA (N) 4 Contd.
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SCORING KEY / OUTLINE ANSWER AND MARKING SCHEME
Subject and Paper :- Fine Arts (Theory)

Q. Value Point/Key/Outline Answer Mark | Totai
No. for | Marks
each
point

1. | (c) Aquatint 1 1
2. | (b) Fiber glass 1 1
3. | (b) Graphic design 1 1
4. | (a) Manuscripts. 1 1
5. | (b) 2nd phase 1 1
6. | (c) Nataraja 1 1
7. | Creation of a 3-dimensional piece of art typically using some type

of clay. 1 1
8. | Decorations of mandapas of Brahmin families, sangoi, etc. 1 1
9. | Influence by Bengal School of Painting of Tagore family, Ananda 1 1

Coomararaswamy, Ajanta Painting, European paintings. (any one)
10.| Renowned worldwide for its vivacity and assimilative character of

Indian themes. 1 1
11.| Fertile valley of the Kaveri River. 1 1
12.| Lithography is a method of printing originally based on the

immiscitritlity of oil and water. 1+1 2

Application - to print'text or art work onto paper or other suitable

maerial.

13.| Application of design and decoration to everyday use objects to 7

make them asthetically pleasing. 1+1 2

The fields are Industrial design, graphic design, fashion design, etc.

(Any one of them.
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Q. Value Point/Key/Outline Answer Mark | Total
No. for | Marks
each
point

14.| The Art School became College in 1956. Its main aim was to enhance 1+1 2
the movement of art in Manipur.

15.| Popular art of Mauryan period are Terracotta objects of various sizes
consisting of primitive idols, toys, dice, ornaments, images of folk 1+1 2
Gods and Goddesses. (Any two).

16.| The artist lacks exposure to the advanced art methods, lacks of
communications with the artist of the rest of the world, lack of 1+1 2
patronage and prospects (Any two).

17.| Materials used in mold making are— plaster (Gypsum), latex rubber,
paste maker, moulage, gelatin, white rubber, polymer, etc. 1+1+1 3
(Any three of them).

18.| Many artist had undergone training programme in various art colleges
and universities of India. 3 3
Winner of many awards and several prestigious awards.
Many artist are specialized in fine arts, commercial design, graphics, etc.

19.| Shoulders are broad, the chest swells, legs are firmly planted with 1+1+1 3
feet spaced apart. Shaven head, round smiling face, rightarm raised,
left arm akimbo or resting on thigh, lion throne, etc. (Any three points).

20.| Gandhara style of Buddhist are develoned out of merger of Greek,
Syrian, Persian and Indian artistic influence. 3 3
- Represented Buddha with a youthful Apollo-like face.
— Dressed in garments resembling those of Roman imperial statues.
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Q. Value Point/Key/Outline Answer Mark | Total
No. for | Marks
each
point
21. | Acrylic paints are fast drying paints the pigment is suspended in
acrylic polymer. 5 <]
— Diluted with water.
— Applied to surfaces such as paper, acrylic primed board, canvas, etc.
— Variety of brushes use, painting lenives, rollers, air brushes, etc.
- Versality makes theme suitale for many techniques.
— Canresemble watercolour or an oil painting.
- Special effects such as glazing and imparts.
22.| First traditional art of Manipur belongs to the vast Manuscript illustrations.
— Not product of professional artists.
— Same during the reign of King Khagemba.
— lllustration done one hand-made papers, bark of trees, etc. 5 5
- Subjécts based on social and day to day events.
— Mostly scenes of fishing with nets, hunting and funeral proce sion, etc.
23.| The technique of painting in Ajanta cave was done by a layer of clay

mixed with cow dung and powdered rice hush and also urine.

First applied to the chipped rock surface.

When dried, a second coat of lime plaster was applied.

Lines were drawn in pink, brown or black.

Brushes made from the squirrel tails.

colours made from pebbles and vegetables and mixed with glue.
Main colours used were red ochre, yellow ochre, brown ochre,
lamp black, lapis lazuli imported from Northern India, Central

Asia and Persia.
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2018
ADDITIONAL ENGLISH
Full Marks - 80
Pass Marks - 20
Time: Three hours

Attempt all questions.
The figures in the right hand margin indicate full marks for the questions.

Answer the questions in your own words as far as practicable.

Section - A

(Poetry)

1. Explain the following extract with reference to the context : 6
(@) Thou thy worldly task hast done,
Home art gone, and ta' en thy wages.
Golden lads and girls all must,
As chimney sweepers, come to dust.
Or
(b) Lives of great men all remind us
‘we can make our lives sublime,
And, departing, leave behind us

Footprints on the sands of time

Contd.
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Answer the following questions in one sentence each : 1x3=3
(a) What is the sweetest voice that the traveller heard in the course of
his journey ?
(b) Where does the poet hear the cuckoo's song ?
(c) What does the stream say to the thwarting stone ? |
Answer the following questions in about 30 words each. 2x3=6
(a) Which kind of cloth do the weavers weave in the moonlight chill?
(b) What did Longfellow affirm in the poem, APsalm of Life 7
(c) Why does Wordsworth call the Cuckoo "Blessed bird"?
Answer the following question in about 100 words : 5
(a) How does the stream address stones, rocks and boulders in the poem
"The Stream's song" ?
Or
(b) Describe the sweet sounds and sights that the traveller enjoyed on

his return.

96 RM 32 e (N) ' 2 ' Contd.
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SECTION-B
(PROSE)
5. Explain the following extract with reference to the context : 6
(@) Foryears scientists and doctors sought the secret o how it was spread.
Some declared it to be caused by the night air, others that it came
from the infected waters. Both theories to be disproved.
Or
(b) "That's a lie. You're not dealing with a fool. | am as smart as and
smarter".
6.  Answer the following question‘s in one sentence each : 1%x3=3
(@) What according to Gandhiji is the first step to true education ?
(b) "...1have a sense of utter shame". In what way did Nehru have a
sense of utter shame R .
(c) When did the thir& genefétion cd.mppter appear on the market ?
7. Answer the following question_s. in ébout 30 words each : 2x3=6
(a) What are the two factors for the sudden growth of computers ?
(b) Which behaviours of tﬁepdliéeman onrthe beat made him look like
a guardian of peace ? a
(c) What are the conditions under which Gandhiji feels that education

will be of no use for every one ?

96 RM 32 e (N) 3 Contd.
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8. Answer the following questions in about 100 words : 5
(a) "You have been under arrest for ten minutes."
" How was the arrest of Silky Bob made ?
Or
(b) How did Gerard outwit the intruder ?

SECTION-C
(READING)
9. Read the following passage and answer the questions that follow :

Scientists are always worrying about something. Their knowledge is
incor.nplete. They do not, they say, know where are going, but what worried
'them more than this is where we came from and how we arrived at our present

exalted state of civilization and intelligence.
The Bible has no doubts and so no worries. Man was created by God,
a divine inspirational creation relecting god's image. This is the most
satisfying answer to the question. It is complete in itself and leaves no
room for doubt but the scientists on the whole reject it. They say that man is
an animal, highly intelligent, sophisticated animal, no doubt, but nevertheless
an animal. They say that there must be a link between and the other animals
—for all life, it seemed glittered out of the water on to the mud and from there

on to finer ground.

96 RM 32 e (N) 4 Contd.
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But search as they will, the scientists are always up against a missing
link. There seems to be an unbridgeable gap between the most civilized
apes and the most uncivilized man.

(a) Answer the following questions in one word/phrase/sentence each

i)  Why are scientists always worrying ? 1

i) Why has the Bible no worries ? 1
(b) Answer the following questions in about 30 words each :

i) Why do Scientists disagree that man is the creation of God ? 2

i)  Why do s=ientists believe about a link between man and

animal? ‘ 2

(c) Pick out the word from the passage having the same meaning as :
i) dignified ' 1

i) n spite of that 1

SECTION -D
(WRITING)

10.  Complete the following dialogue with appropriate words / phrases according

to the context: 1x5=5
James: Hello! .............. ?
John : Fine, thankyou, and ............. ?

96 RM 32 e (N) 5 Contd.
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James : Getting along fine. How is ............ ?
John - My family is OK. Is your daughter ........... 7
james ..., she can attend school ?

11. Indane LPG service wants to introduce home delivery system of gas
cylinders to its customers. Draft a circular for the customers. Put your
name as Manager. 3

12. Give arguments for and against the given topic in about 90-100 words :5

"Use of Mobile Phones by the students"

13. You are Philips, the social and cultural secretary of your school. Write a
report on the Literary and Cultural Meet of your school. | ,5

14. Write a precis of the following and give a suitable title : 7
To avoid the various foolish opinions to which mankind is prone, no
superhuman brain is required. A few simple rules will keep you free, not
from all erros, but from silly errors. If the matter is one that can be settled
by observation, make the observation yourself. Aristotle could have avoided
the mistake of thinking that women have fewer teeth than men, by the
simple device of asking Mrs. Aristotle to keep her mouth open while he
counted. Thinking that you know, when in fact you do not, is a bad mistake, |
to which we all are prone. | believe myself that hedgehogs eat black beetles, |’

because | have been told that they do; butl was writing a book on the |

96 RM 32 e (N) 6 Contd.
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habits of hedgehogs, | should not commit myself until | had been one
enjoying this diet. Aristotle, however, was less cautious. Ancient and
medieval writers knew all about unicorns and salamanders; not one of
them thought it necessary to avoid dogmatic statements about them
because he had never seen one of them.

15. You are Donald. You want to organise an educational trip to a historical
place. Write an application to the Principal of your school asking for his
permission. 7

Or
Write a letter to the Manager Sharma Book Depot asking for supply of
Text Books. | |

96 RM 32 e (N) 7 Contd.
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SCORING KEY / OUTLINE ANSWER AND MARKING SCHEME
Subject and Paper :- Additional English

Q.

No.

Value Point/Key/Outline Answer

Mark
for
each
point

Total
Marks

(a) Context: A Requiem by Shakespeare

Man had been sent to perform some duties on earth —awards for good
leeds and punishment or misdeeds — Death equals all - Rich and
poor will face death.

Cr

(b) ContextA Psalm of Life by H.W. Longfellow

Life stories of great men encouraged us to do gocd things —We also
make ourselves an ideal for the future generation — G' zat men ¢

end their lives in death. '

(a) Voice of love welcoming him.
(b) in the valley full of sunshine.
(c) to make way for her journey

(a) Cloth as white as feather- cloth to be used as man's funeral shroud

(b) Life is not a dream- a continous struggle- grave is not its goal

(c) The bird can seen- wandering voice appeals the poet- feels it has
a divine power.

(a) The Stream is personified as a living person- asks the stones and
boulders to make her way- Warns that their power and srength
will not be of no use against the power of current of the stream-
will surrender to the stream.

Or

(b) Sweet song of the skylark— wind blowing around him at noontime-
sounds of flowing water- sounds of sheep bells coming from a
distance- sound of love on his return at home.

13

2x3
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Value Point/Key/Outline Answer

Mark
for
each
point

Total
Marks

(a) Context : The Conquest of Malaria
Scientists and doctors had false notion about the cause of Malaria-
believed that Malaria was caused from the night air coming from the
marshes- some believed that it was caused by infected water. -
These theories were found wrong.

Or
(b) Context : If | were you :

. An intruder forced into Gerrad's house - forced him to answer some

questions - asked Gerrad if he possessed a car - negative reply -
Intruder thought Gerrad telling a lie.

(a) to have faith in god.
(b) As an individual as well as a head of the government
(c) 1965

(a) Rapid technological improvement from 1900 - after World War-Il
large sum of money have been invested.

(b) Watch full and obedient while patrolling in the street - artful
movement of his club énd stalwart figure.

(c) If education cannot reach through pure heart - their education
turns them away from god.

(2) Jimmy found his friend Bob a wanted man in Chicago - He did
not want to arrest his friend by himself - He went away quietly

and sent another policeman in plain cloth with a note to arrst Bob.

Or
(b) Gerrad posed himself as a wanted man like the intruder - He
proposed the man to run with him - led him towards the garage
pushed him in the garage and locked him- rang for the police.

2+4

1%3

2x3
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Q. Value Point/Key/Outline Answer Mark | Total
No. for | Marks
each
point
9. | (a) i) In the matter of origin of man, scientists' knowledge is incomplete. 1 1
ii) Bible believes that man is the creation of God. 1
(b) i) Though highly intelligent man is from animal group- there must 2 2
be a link between the two
ii) The scientists are always trying to bridge the missing link 2 2
between man and animal- though most uncivilized man is wiser
than the most civilized ape. 1 1
(c) i) exalted i) nevertheless 1 1
10.| .... How are you
........... you 1x5 5
........ is your family
...... | alright now
Oh, yes........
11. | Circular Writing 3
12.| Argument writing Equal mark distribution for merits and demerits of
mobile phone.
13.| Report Writing
14.| Observing certain rules may keep us from committing error- that is
self-observation- it is the best method- man is always prone to assume | 5+2 7
he knows everything and make mistakes to avoid this man should
observe practically.
Title : Seeing is believing etc..
15.| Letter writing :
Format 2
Expression 7
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HOME SCIENCE
Full Marks — 80
Pass Marks — 20
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The figure in the right hand margin indicates full mark for the questions.

1 What causes rice flakes less palatable when stored for longer period? 1
TmRr wmie efzr mAw R4efs mafe ITmAese ?
(52211 31 fora 218 TR PR (AR

2. Name are the two types of property. 1
g’ mee! ey welrd wRm AR |
comeil e Sfera iR 2y

3. Who are the earliest role models for a child? 1
wain TR w53t Ars &7 RE EC—ETT ?
e, A 312w BT 2T (AT G ] FAIC?

4. Which Indian state is not covered by R.T.I. Act? 1
Aeymt maws o4 RTI wre meofersm ? |
CreR a9 (36 wa. . 2. @3 @mhEce?

5. Whydo children like to listen to music? ‘ 1
Thnotne & $% mafrf wmwfe ?
Spe eI HE ST FIA #ATH LA

Contc




Choose the correct answer from the given five alternative answers and rewrite the
correct answer.

Wefefs WARF Fall GOM! KCOR GRFE SiwxR V¢ WROD TR 53 |
fﬂﬁmﬂm?@wrw&%ﬂammms{nuﬁwﬁmimﬁ{awiy
6. Children who spend time listening to radio get less exercise. 1
- rT weR F¥ GaTofme srRm Oz Ake ¥ |
@fes gey OTRT TWERMLT SFEI el q1eay (513
(A) More (©we) (=)
(B) Less (@wme) (smzmm)
(C) Little Grefwrs’) (2f&ras)
(D) Enough Gor Re) (5 57m0)
7. Achild needs to release tensions by the environment.
TAIC T Esse R'omofn R¥zexls rewe ©'s |
SGIRAT SRR (BT bR 2T el 63 |
(A) Made @'szes) (s337)
(B) Produced G'rzes) (carezar)
(C) Given (mfamrm) (Fazer)
(D) Imposed (erofmvemwm) (sufraasr)

8. Moneyis resource. | 1
e ool afo'sm wrel |
Ot S5y Lz e Aot

(A)  Unlimited (e ¢xws) (3o sizwar)
(B) Limited (wamres) (smezar)
(C) Acquired Eerm) (weereer)
(D) Earned ®3emrm) (wme)
2 Contd.
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1

12.

The method by which control can be maintained is known as

standardization. 1
st  mege’y FrIml MRS GHI OPTRERRTOE AR XTI
come TG (ST #A1T S CHwHICE 2T AL |

(A) Condition Efsw) (Fiew)
(B) Quantity &Tm) (s%)
(C) Shape ®wm) (vs2)
(D) Quality wwe) (w3)

Rita nut is suitable for washing fabrics. 1
afs$ vy oo of Efe’y oz 1T |
o1 w3 & fRegarer 2w Bl |

(A) Cotton E'zm) (siem)

(B) Synthetic Gexcr®) ()
(C) Silk Gr) (3o1)

(D) Wool @ws) (<m=g)

Which type of emotion are usually shown by a child at the arrival sof a new
born baby? _ 2

Gime ROS GF WCICIYIR WEH WERS FENT Suem yemefmr 53F s
ST AN ST (A IFEEH] S ST wreran +{fHed Zzei Teosl?

Prepare albumen water for a sick Person. 2
ol TRl GAERE Repg OrRE

A ST SE A QB T |

3 Contd
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14.

15.

16.

17.

18.

Suggest the different ways of saving time. 2
RRF XRCET $hle sy wrsofm suw |

TS SRFR5N (Tere COTEAT ACFTR SIFE |

What is investment? 2
RETORTY mafe ?

BT FRCA?

What are the market aids available to protect the consumer against various risks
in buying commodities? 2

W4 ER WEIRE TR TUCals XFD Rws WRR B TATCLs £ofs W smnoin on

mefe’ ?

CAISTB CoTT SR SA] (A3ATRAT YOI ST (IZHeIAT TR Capg2iaral e W HfCAr?

Draw a neat diagram of suction washer. : 2
PE FCCT CIOMC ROF TH RIS |

OF SN S I ST (TS |

Explain any three factors which influence children's interest in watching
television show. 3

Cnoime sefifze wmelnsT™ ke GaF oTRme SIS |

w1 (BT cufekad waw sy oWt o |

How do tradition and misinforfnation affect meal planning? 3
XTIl TROYD SCT *IT WERC NE AT FER CEHE TERE CTATET ?

BSART SRR STINAT ST ST BT Al (ST SR (RS

4 Contd.



19.

20.

21.

22.

23.

24.

25

Plan a low calorie diet for an obese person. <

TC'RE T R mecal zeTs 2 e ¥ I

SCATRAT AT SN (A 74T W25 AT (3 |
How does maintaining a record of expenditure help a housewife in spending money
for different items? 3

Relw FEfend em'es W nEzeeRs’ TRt Fhic hber Afawofmr o offcess mewe
HYD W IEme?

BT CETRIETT (AT 29T TFERT ST (ST Coreraat fRgafAiget corer ffraram <oy Sgws A1RACa! 2

Cite six responbsiblities of a consumer? 3
WEckE TR AX® BET 572

TG AN M2 T 37 |

Draw a neat diagram of ironing board. 3
g PCCE CiaEeln TER TR 7T |

T ST SRR (@ S @ |

Classify stain according to their origin. 3
AEWERTT KM BT HF WET RFTTE |

(BIRTFA TR FA BT T4 AZHFE |

What types of play are included in passive play? 4
HEF HEF BRI RoOTofm wmeohn meenf kem 3 el ?
@mwﬁ:wﬁr&cﬁamﬁ?w&sﬁ?

Explain any four types of convenience food?

%4SRE Wedw wxy wmal oerRme $Ts |

Y<CEIEAl g1 T4e WfF > o |

5 : Contd.



26.

27,

28.

29.

30.

List down the different steps of management process. 4
BTTREY TE'rom’ $iie $zaey owmofn r ww i
GG (AR (SNGT (OTSIAT CBo1f w1 3 |
Analyse the factors to be kept in mind while selecting ready made garment. 4
ewferal efe’y xezn muemn efoofmmeoin or Cear ST |
T et <mw «ffde fefrsmafi oy G ot |
Explain the different forms of child's behaviour in the socialization process. 7
OOMTTRMET ME' WP TCalT REEETI FATE BRI SR Oz orRTe S 1
OIS (ARG SS1AT SRS (ST (SIS T8 sTT5e *rere XTI OTS |

6 Contd.

What is a balanced diet? List down the classification of foods under Food

Guide. 7
TTEM RHE WRRE WET ? ER WRE mrw Xeimoll BRT BmER RS b3
memﬂ?%mmfﬁeawﬁ?mwmﬂﬂﬁr

Point out the steps to be followed while washing a white cotton shirt. 7
Tl EAfY Gil's TR OFR RETTHE BE R WOSOD TR B |

FREAN FIAS ST TN I Gl TR FANSHR W ST |



SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME

SUBJECT & PAPER........ T S
SL Mark | Total
No. for | Marks
each
point

1. Slow loss of flavour compounds 1 1
2, Movable and immovable property % 1
3. Parents 1 1
4. Jammu and Kashmir 1 1
5. Enjoy being sung to them/listening to music 1 1
6. A. More 1 1
7. B. Imposed 1 1
8. C. Limited 1 1
9. D. Quality 1 1
10. C. Silk 1 1
11. Anger and jealousy 1 1
12. White of 1 egg, 180ml water, % teaspoonful sugar, a pinch of salt.

Separately white from yolk, whisking it without making brothy. Adding |leach| 2

boiled and cold water. Straining after seasoning.
13. (i) Making time plan, following trictly.

(ii) Not wasting time. % 2

(ii1) Using labour saving devices.

(iv) Doing two or three activities at the same time.
14. Placing family funds in more or less permanent form with expectation

of assuring security of principal and of receiving regular predictable return | - 2 2

fromit.




SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME

SUBJECT & PAPER......... S S S N SR
Sl Mark | Total
No. for | Marks
each
point
15. () Standardization Marks, (ii) Labels, (iii) Packages, (iv) Advertisement
(V) Leaflet (vi) Pamphlet (any four points) % 2 .
16. i 2 2
Diagram of Suction Washer
17 Factors — (i) Age, (ii) Sex, (iii) Intelligence (iv) Socio economic status,
(v) Academic achievement. 1 3
Explaination on any three points.
18. Tradition — Based on experience, sometimes some poor practices become
part of tradition leading to poor meal planning. 1 21 3
Misinformation — Wrong information about food leads to poor selection
of food in meal planning.
19. Per day meals should provide 1200 to 1600 calories.
Protein — 1.5 gm perkilogram body weigh 3 3
Carbohydrate — Restricted ;
Fat — Restricted
Mineral & Vitamins —  No restriction




SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME

SUBJECT & PAPER .....ccoitiirreneiecsiesessesssssssssnisssassaseasessassesnssasssssssssassssssssasatsssasseasasssssssssssosasasas

SI. Mark | Total
No. for | Marks

20. Able to
(1) Know exactly how much has been spint on each item.

(i) Identify if spent more or less on certain item than in previous months.
(iif) Identify unnecessary expenditure and stop spendingmoney on those items.
(iv) Predict money needs for the future.

b=

(v) Save money.
(vi) Compare prices of products and avoid being cheated.

2% Responsibilites

(i) Purchasing when needed, notina hurry.
(ii) No blind purchaser, demanding full information. =
(iii) Aware of misleading advertisement.

(2

(iv) Purchasing quality product.

(v) Buying electrical suppliances with ISI mark and food produéts with
Ag mark FPO mark.

(vi) Obtaining receipt/cash memo. Obtaining guarantee/warranty card.

(vii) Approaching consumer court/approprite authorities.

(any six points)

22

Diagram of ironing board.




SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME

SUBJECT @ PARER ..........occocoonss omenshossntsetsosssinssss 565 omsmmmmeants oedsssmeprienbensinste int b sl

S . . Mark | Total
No. for | Marks
each

7 point
23, Classification - (a) Animal, (b) vegetable, (¢) Grease. (d) Dye and 3 3
(e) Mineral Explanation on the above points. ’

24. Types —(ij Watching others (ii) Looking at comics (iii) Watching television| 1 . 3
Elaboration on there points.

25, Types of Convenience foods

(a) Bottled and canned fruits and vegetables.
(b) Tinned fish, meat, paneer, sag, pulao etc. _
(¢) Dehydrated foods and juice concentrates 1 4
(d) Frozen foods

(e) Ready to use frozen foods

(f) Mixture, biscuit, waffers etc.

(g) Cakes, patties, pastries, bread, bunds.
(Explanation on any four types)

26. Management process (a) planning (b) organising (c) implementing 1 4
(d) evaluation Elaboration on these points. \

27. Factors (i) Cut of the garment (on grain), (ii) srifes, (iii) Seams 1 4
(iv) Fasteners (Elaboration on these points)

28. | Childhood behaviour in socialization process 1 7
() Imitation (ii) Quarelling (iii) Non co-operativeness, (iv) selfishness
(v) Negativism (vi) sharing (vii) Rivalry.

Explanation on these seven points.

29. Diet containing different types of food in right quantity and properties to
meet body requirment and small provision is made for extra nutrients to| 2 2
withstand short duration of leanness.

Classification of food under foo guide:




SUBJECT & PAPER ......... seesrese s -

SCORING KEY/OUTLINE ANSWER AND MARKING SCHEME

............

Sl
No.

Mark
for
each

point

Total
Marks

29,

30.

(i) cereal grains and products

(11) pulses and legumes

(iii) milks and milk products Elaboration of these
(iv) fruits and vegetables

(v) fats and sugar

Steps while washing cotton shirt

(i) Exmaination of article

(ii) Steeping

(iii) Washing

(iv)Ringing

(v) Wringing

(vi) Stiffering and blucing and drying
(vii) Dampening and ironing
(Elaboration on these points)
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